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1. Which Financial Statement Displays the revenues and expenses of a company for a
period of time ?

(1) Income Statement | (2) Balance Sheet

(3) Cash Flow Statement _ (4) Statement of Stockholder

HH-a1 faxig faaxor a7 &) oafy & fory v du & WoRa @R oy e Rar ® 7
(1) 3y faaor (2) ¥ e

(3) FHY ware fagvor (4) 3fermh & faRor

2. What is the main purpose of financial accounting ?
(1) To organize financial information
(2) Provide useful, financial information to outsiders
(3) Keep track of company expenses |
(4) All of the above
foxTra oraies @1 9= Seeg | P
(1) =i ST9aN & afRyd & & fog
(2) 9 Al @ fow STarf, foiig SFeR) ueiM & @ forn
(3) PUI ® Wd W ToR WA b foIU

(4) ST |

3. Which of these is not included as a separate item in the basic accounting equation ?

(1) Assets
(2) Revenues
(3) Liabilities
(4) Stock Holder's Equity
%ﬂjﬁﬁﬂ-ﬁgﬁﬁﬁ@mmﬁwmwﬁmﬁwﬁa & far smar
(1) wuf
(2) ST
(3) <y
(4) Wiours B ghREd
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4. Which financial statement uses the expanded accounting equation ?

(1) Income Statement : (2) Balance Sheet

(3) Cash Flow Statement (4) Statement of Stockholder's Equity

P-4 i faror favaRa ke widRer &1 IuAT HRel & 7

(1) sma faaror (2) dei| ¥

(3) w@al yare faavor (4) 3rerrft @ sfdadt &1 [@avo
5. The accrual basis of accounting records revenue when they are:

(1) Earned (2) Collected

(3) Contracted (4) Readily available for use

SRATET BT IUTSH SR ORT 3iHeld HRT @

(1) @i (2) g3l

(3) ergdfer (4) SYa B foau o A Suerer
6. The account format that displays debits, credits, balances and headings :

(1) General Ledger - (2) General Journal

(3) Ledger Account (4) T-Account

e, e, v Wl iR Md® F1 BIF-A1 WK 9T F& i o €

(1) M= gErardl (2) A S

(3) @& @refn _ (4) A-@rar

7. Asset accounts have what type of balance ?

(1) Debit (2) Credit

(3) Contra (4) All of the Above
gRemaRy @rdi & A BT /T IR B ?

(1) sfee (2) Bfee

(3) DIl (4) SIRIad I

8. Which account is not a liability account ?
(1) Accounts Payable (2) Accrued Expenses
(3) Cash (4) Notes Payable
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=1 & & P e @ 9 g 2
(1) =7 @n (2) Sufa s
(3) @ | - (4) <7 e

9. Which account increases equity ?
(1) Expenses (2) Withdrawals
(3) Treasury stock (4) Revenues
PN WA W 3R g7 Rl 2
(1) =33 (2) frard
(3) TR ¥efe ’ (4) o

10. A contra asset account has what type of balance ?

(1) Debit (2) Credit
(3) Contra (4) All of the above
Wﬁﬂﬁﬁqﬁﬁﬁ@ﬁﬁﬁqwﬁrwwm%?
(1) e (2) wfee
(3) ivgT (4) SWRIFT T
11. Which authority is acquired as a result of a position in organisation ?
(1) Parent (2) Rational (Legal)
(3) Charismatic (4)_ Traditional authority

aﬁﬂ-w&rféwﬁmﬁwﬁaﬁ‘fa%wﬁvmzﬁmﬁwﬁmw%?

(1) we-fem () afsra (efrrer)
(3) PRewr (4) RIS 3R
12. Which theory represents lazy and docile employees ?

(1) Theory-X (2) Theory-Y
(3) Theory-Z _ (4) Maslow Theory
ﬁﬁ-wﬁmmaﬁ?ﬁwmﬁﬁmw%ﬁ@am%?
(1) @R v () =g
(3) = s (4) A¥<lr 2y
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13.

14.

15.

16.

Which of the following is an example of a convenience product ?

(1) Petrol ; (2) Motorcycle -
(3) Bicycle (4) Athletic Shoes
TS JfQuT SeU1E &1 U S&ExYT = # 4 S|t s ?
(1) UgTt (2) AIeX ATEd
(3) wrgfdet (4) voefesd S

Anything that can be offered to a market for acquisition purpose and buyer car
it and it fulfills his want is :

(1) Product ' (2) Satisfaction
(3) Demand (4) Need

aﬁw%ﬁﬁaﬁﬁuﬁwﬁeﬁwmm$mwmﬁﬁmﬁmmé?
YTEd DI 261 B [T BT &

(1) Sers @ @
(3) HI T 4) TR

Which of the following is an answer of the question "what should our business t
(1) Objective Statement (2) Vision Statement
(3) Mission Statement (4) Strategic Plan

o § ¥ P9-91 39 9aTd &1 TP a1 & “BIR AR T BT F1fey 2

(1) S22 s (2) &gt &7 gy
(3) fAe Faaa (4) orFIfde IrerET
Maslow's Need Hierarchy includes all these except :
(1) Physiological Needs : (2) Safety Needs
(3) Need Recognition (4) Self Actualization
USTIHH H 39 Bl BISIR W WA ®
' " (2) JRET DI THRA

(4) AR




17.  Early theories about how individual make decisions were based on the concept of :
(1) Utilitarian Phﬂosophy (2) Action Man
(3) Economic Man (4) Rational Man

e B Frofa o & gor T g Fier § 9 e ) e &
(1) Syafframard g+ 2) @ 9
(3) anfde #9 (4) THETT A

18. A major problem with a task force type of management is :
(1) There is no logical basis for task force information
(2) Its status is too inflexible
(3) Accountability
(4) Lack of planning

Ud TS BRI Yae9 B A1 U 97 GHET &

(1) e B B TaR B g BT afs o T8 2
(2) s Rfy @ B &

(3) SfarawEr

(4) ST @ B

19.  Communication begins with :
(1) Encoding
(2) Decoding
(3) Channel Selection
(4) Idea Origination
AR Id BIAT & :
(1) wpifeT
(2) SHfST
(3) a7 TI=

(4) fI=R egafy
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20.

21.

22.

Functional managers are responsible :

(1) For asingle area of activity

(2) To the upper level of management and staff
(3) For complex organizational sub - units

(4) For obtaining copyrights and patents for newly developed processes
equipments

HrafHs gaud e €

(1) wfofafsr & v & &= & forg

(2) Eue IR FHAMRGT & HU W & forg

(3) SIfed HATearcH® Gti—s‘tﬁléﬁf?ﬁ%lt{

(4) 9 fawRra ufdharil oik Susvl & foy sidRrge ik Ice ura & & forg

Which one of the following relates to an implied warranty ?
(1) Disclosure of dangerous nature of goods

(2) Title to goods

(3) Sales by sample

(4) Sale by description

fa=foRaa & & o9-a1 v fifg arRd ¥ wefda & ?

(1) 1 & WAATH UHIT BT GHCTHRT
Q) w7/ @ forg windw

(3) T e

(4) 9o grT famr

A seller agrees to supply a crop which is to be grown by him. Thisis a:

(1) Sale (2) An agreement to sell

(3) Bailment (4) Contract for work and labour

U fAshdT SHS §RT Sg M aTell Haa al g &x @ fofg we9d 8 | 98 & -
(1) foo 2 (2) B B 999 B oI H FHSiT ®
(3) verie & - (4) WEea &R uRe @& forg argay &
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23. A document is said to be a document of title when :
(1) It contains a conditional undertaking to deliver the goods
(2) It contains an unconditional undertaking to deliver the goods
(3) It contains an unconditional order to take delivery of the goods

(4) It contains a conditional order to take delivery of the goods

VP XIS TG | Vb e vt a9 oy 8

(1) ¥E A1 <9 & o | SumH ¥ wnfe

(2) 7& W faaRa s & forn e fer ol sums § T
(3) TE wre o Relladt o & forg fAmm wred s vy @

(4) =& 71t 3 feellad o & forg ve 9ot s 2y

24.  An offer may lapse by :
(1) Revocation
(2) Counter Offer
(3) Rejection of offer by offeree
(4) All of the above

Uh URITT FHI< & el &

(1) fraa 9

(2) STaE =g |

(3) WRATID ERT UADB @Y SRAply
(4) SWaT w4 ¥

25. A proposal when accepted becomes a :
(1) Promise
(2) Contract
(3) Offer
(4) Acceptance
U %19 W19 WIHR & S ¥ q9 a8t 77 9 oy & ?
(1) arer
() s
(3) =g

(4) drpfa
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26. Moral pressure is involved in the case of :

(1) Undue Influence (2) Coercion
(3) Misrepresentation (4) Fraud
Afde gaT & A § IR ©
(1) 2@ifsd g¥Ta (2) TR
(3) FEHIT (4) arar
27. Consideration must move at the desire of :
(1) Promisor @) Promisee
(3) Any Other Person (4) None of these
Consideration f&a®! 3267 R WIFART HIAT 8117 7
(1) Promisor (2) Promisee

(3) f&AT 31 o (4) 371 q BIE B

28. An executor consideration is:
(1) Consideration promised by executive of a company

(2) Consideration which consists simply of a mutual exchange of promise each being
a consideration for the other

(3) Consideration which should be executed on the future date
(4) Consideration which should be executed before the court

TH YaIGGC HIASTE ¢

(1) 9t & dRdeRI 7 grer fear

(2) TH TR B [0 [Ha1 o1 @ & @ uRERSE fafmy

(3) wfiey & frel AR R i Rear o aren arar RR
(4) scTed @& wwey fwrfea far o aren iR

29. What is known as a charter of a Company ?

(1) Memorandum of Association (2) Byelaws
(3) Articles of Association (4) Prospectus
= § 9 faeT Hu &1 AR HET SaT § 7 |
(1) ¥EREH i THReeH (2) T &t
(3) nfdwex aifs vafage= (4) vraeH
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30. Dividend on preference capital is paid .....
(1) Whenever there are profits
(2) When there is loss
(3) Even if there are no profits
(4) After dividend is paid to equity shares
I Yol R AT BT YT T o @
(1) <19+t o &) <2 &
(2) 99 JHa Brem &
(3) @™ 7T B =T &
(4) RS AR W A B YIAH & 915

31. The name of the company can be changed by ....
(1) An ordinary resolution
(2) A special resolution
(3) The approval of the central government

(4) A special resolution and the approval of the central government

ST BT M, ........... A ISAT T FHAT ¥ |
(1) TP AR Hheq (2) Iy Fopew & _
(3) BT PR & FoR F (4) fRy Wpeq ok B WRER P FoD |

32. When a company said to have been registered ?
(1) When it files the memorandum of association with the registrar of companies
(2) When it gets the certificate of incorporation
(3) When it gets the certificate of commencement of business
(4) When it actually starts its business |

Ud DUl BT GNBROT e | A & ?
(1) mwmmmthm#ﬁ%ﬁaﬁmmwméﬁ%
(2) W19 $ STHRURY &7 WiSfhde et wrar &
(3) T TN T IR B BT AT fer Sy 2
(4) 9 T IRTT # U FINE I BT R |
PG-EE-2015/(Commerce)/(A) | L0, T. O.
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33.

34.

(1[4 W [ |
| | 111

35.

The ............... defines the scope of a company's activities.
(1) Prospectus (2) Statutory Declaration
(3) Memorandum of Association (4) Articles of Association

.. T BUA ) RN & TRR @1 uRRg wxar 2|
(1) u=Fesd (2) dunfe GrgoT
(3) HNeH st gaREE (4) wRenm B org

Which of the following companies must file a statement in lieu of prospectus ?
(1) A private limited company

(2) A cooperative society

(3) A company that has issued a prospectus

(4) A public éompany that has not issued a prospectus

=1 % A BN BN dRUFCH B SE TH WeHe B Bl § P

(1) vob ool wuet

(2) U FEdRI |l

() T Ful R diddes o faar 8
(4) TP Adfe HUHl AR Sieed o T8 e ®

The doctrine of indoor management means .

(1) strangers dealing with the company may assume that everything is dor
regularly

(2) strangers must enquire into the regularity of proceedings
(3) strangers can afford to be negligent as regularity is the company's responsibility

(4) constructive notice

TSR yaH B Rigra &1 a1ef @

(1) ®Ul & W1 BM PR W I AT A A of B FON H W9 B9 P T @l B

(2) BUH B A1 B P L A AT A BH-AT B I HUN H G g6 A T
g AT &l

(3) IISIHE! AT ATURATE YT Wbl & Fifh Wd BY SNb-S[h Tl BU- P forard 2

(4) EIHS e
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36.

37.

38.

39.

The Reserve Bank of India is an example of a __

(1) registered company (2) statutory company
(3) chartered company _ (4) unlimited company
Rerd d& oife ssar fbweT SgmEryT & ?

(1) Hofrgd B (2) wifafde Hul
(3) @ HUHl (4) RN BUl
A decrease in the growth rate of the money supply is likely followed by :
(1) A recession | (2) A recovery
(3) A boom (4) Inflation
a1 Mg @ gfg <= A B A S B Y
(1) T& 2 o Rea
(3) I <l (4) garemifa
Money appears to have a major influence on :
(1) Inflation ' (2) The Business Cycle
(3) Interest Rates (4) All of the Above
a1 e # & fre W s g Srert ® 7
(1) garmifa (2) WUR D
(3) & &% (4) SORIE |

Currency includes :

(1) Paper money and coins

(2) Paper money, coins and cheques

(3) Paper money and cheques

(4) Paper money, coins, cheques and savings deposits
(1) @It 3 iR Ryaad

(2) BrTel U, g iR o®

(3) BrTST 9 QIR AP

(4) @rTer 39, Ryad, 9% &R Fod o

PG-EE-2015/(Commerce)/(A)
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40.

41.

42.

43.

Credit cards are :

(1) Not money but a way of transferring money
(2) Money since they act as medium of exchange
(3) A store of value

(4) Identical to debit cards in every way

Bfee o€ 8 -

(1) T €1 2, b A B BRI BT TH AT

@) R @ 7om & 9 5 oY B B BRY a1 & 8
(3) e BT W

(4) &R RE ¥ Sfde o€ & FAH

Electronic Clearing Service in Banks can be availed only by :

(1) Individuals (2) Corporates .

(3) Senior Citizens (4) All of the above

ot ¥ soacife e affa @ dad 39 @ gRT ™ SO 91 Wl © ¢

(1) wferat ) @faRed

(3) aRes AriRa®i (4) IIRIGT I

Nowadays banks are selling third party products. Examples of third party product it
(1) Mutual Funds (2) Term Deposits

(3) Credit Cards (4) All of the above

aToTrd & AR e B Sl @) A FR B T | A U8 IO D IR E
(1) =goret wew (@ ey o

(3) »f¥e +1 (4) SR B T

What is the median of the following set of scores?
18,6,12,10,147? i ,
1) 10 @) 14
(3) 18 4) 12
o1 # Az w2 ?
18,6,12,10,14 7
(1) 10- (2) 14
(3) 18 4) 12
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44.

45.

46.

47.

PG-EE-ZO]SI(Commerce)/ (A)

The denominator (bottom) of the Z-score formula is :
- (1) The standard deviation
(2) The difference between a score and the mean
(3) The range
(4) The mean
Z¥BR B # farore ar gt @ ? |
(1) a9 fage (2) Score 3R Mean & ¥ &7 3w
(3) <rmr (4) Mean
The standard deviation is :
(1) The square root of the variance
(2) A measure of variability
(3) An approximate indicator of how numbers vary from the mean
(4) All of the above
A e @
(1) faRor &7 ety
(2) aRedTeNeTaT &1 7o Hex
(3) Mean & &3l & faaer ot U AT Tad
(4) SR f
A graph that uses vertical bars to represent data is called a ............
(1) Line graph ' (2) Bar graph
(3) Scatterplot : (4) Vertical graph
stﬁéamw%ﬁfaaaﬁ#a%%ma@mwmmvm%ww%
(1) =ms= umw (2) IR UTH :
(3) e wife 4) AR T
The most frequently occurring number in a set of values is called the ... .
(1) Mean (2) Median
(3) Mode ~ (4) Range
amﬁa%wﬁaﬁagﬁawaﬁmﬁﬁwwaﬁmeﬁ%?-
(1) Mean (2) Median
(3) Mode (4) Range

13
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48.

49.

50.

51.

52.

How many dependent variables are used in multiple regression ?

(1) One (2) One or more

(3) Two or more (4) Two

Aedgd R 4 favas RUSe ar & € 2

(1) & (2) TP 1 ifew

(3) =1 A1 I/H ST @) =1

Non-overlapping categories or intervals are known as .............

(1) Inclusive (2) Exhaustive

(3) Mutually exclusive (4) Mutually exclusive and exhaustive
R rferaardl Sf0ml a1 sfaRTel BT S ST §

(1) afeaferd (2) ot

(3) URER 3T (4) AR 9T AR ot

If a distribution is skewed to the left, then it is ....cocveeunnn

(1) Negatively skewed (2) Positively skewed
(3) Symmetrically skewed (4) Symmetrical

(1) TPRTHS Tl (2) APRTHS fauq

(3) Symmetrically faws ) (4) Symmetrical

Which of the following will not be included in the money supply ?

(1) Gold Coins (2) Checking Account Deposits
(3) Currency (4) None of the above

e % @ A ga1 @ ongfd # wnfie T8 far s ?

(1) 9= & e (2) @rar SHr

(3) T&T | | (4) 37 | Big A T

The difference between money and income is that :
(1) Money is a flow and income is a stock

(2) Money is a stock and income is a flow

(3) There is no difference
(4) None of the above

PG-EE-2015/(Commerce)/(A)




T 3R o & &= ok I8 &

(1) 9T & garg @ 3R Mg & stock
(2) 5T TP stock & 3R 3T T yarg &
(3) I3 IR & &

(4) 7H & BIg ) T

93. A loan due for repayment in 20 months time has been included as a current liabilify.
What will be the effect when this is corrected ?

(1) Increase in net assets (2) Increase in current assets

(3.) No effect on net current assets (4) Reduce net current assets

Waﬁﬁ:‘mﬁwwwmﬁ#m%ﬁﬁwaﬁaﬁﬁwﬁamﬁww%:
39 W€ B R 3BT MG T BT 7

(1) g& |ufr # gfy (2) acEE Uy # gy
(B) Y€ T TRy &) B g9g T8 (4) g€ Ar5ET aRGTRRY § o9

54. What is the effect on a company's balance sheet of issuing bonus shares?
(1) The bank balance will be increased '
(2) The long term liabilities will be increased
(3) The reserves will be reduced

(4) The share capital will be reduced _
T N O A B B ST ) dor e R g a2

(1) 9% S 98 o () & oy @ R A gfy @ weh
(3) Reserves &¥ & WU (4) IR TSN B9 8 o
55. Liability for bill discounted is a .....
(1) Current liability (2) Contingent liability
(3) Fixed liability (4) None of the above
ﬁlﬁ discounted & fog iy v & .
(1) Current sifie (2) Contingent 1R
(3) s eifi ' (4) 379 A B8 ff 78

PG-EE-2015/(Commerce)/(A) Lo P.T.O.
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56.

Bl

58.

A

An old, machine was purchased for Rs. 60,000. It was repaired for Rs. 5,000 and Rs.
5,000 paid on its installation. Machinery repairs A/c will be debited by ----

(1) Rs 10,000 - (2) Rs 5,000
(3) Rs 15,000 (4) None of the above

qaagm#rq«aﬂqﬁm,ooomﬁ@ﬂmwmwwmoomaégm5000@?5(
WTWWWW1H¥WH%HWacc0mt@ﬁE€TWﬂ ............

(1) 10,000 ¥4 (2) 5000 394
(3) 15,000 39 @) 37 | Prg 0

X Ltd. purchased the business of Y Ltd. for Rs. 9,00,000 payable in fully paid shares of
100 each at a premium of 25%. The number of shares to be issued by X Ltd. to settle
the purchase consideration will be .

(1) 7000 (2) 5000

(3) 7200 : (4) None of the above

X Ltd ¥ Y Ltd & @R @1 9,00,000 $ud # wrer ferar foraer gierd 100 397 oI &
Wﬁswﬂvm‘25%;ﬁﬁmﬂq¥ﬁﬁmwéxudaﬁsﬂﬁma%ﬁwﬁmﬁmw
B TSl ?

(1) 7000 (2) 5000

(3) 7200 C(4) T | P WA

The following information pertains to X Ltd. : (1) Equity share capital called up Rs
10,00,000; (2) Calls in arrear Rs. 50,000; (3) Calls in advance Rs. 20,000; (4) Proposec
dividend 10%. The amount of proposed dividend payable is ................

(1) 95,000
(2) 90,000
(3) 98,000
(4) 1,00,000

e e X fafics @ et € ¢ (1) called up sfaad R Goh v98 10,00,000; (2
%m@ﬁ? 50,000; (3) A @fet BU 20,000; (4) yRead I 10% | JEaTfad AT g

(1) 95,000
(2) 90,000
(3) 98,000
(4) 1,00,000

PG-EE-2015/(Commerce)/(A)
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99. A company offers to the public 10,000 shares for subscription. The company receives
application for 12,000 shares. If the shares are allotted on pro-rata basis, then
applicants for 12,000 shares are to be allotted as : :

(1) 4 shares for every 5 shares applied.
(2) 2 shares for every 3 shares applied.
(3) 5 shares for every 6 shares applied.
(4) 3 shares for every 4 shares applied

wm‘qﬁwﬁazaaﬁmooowmamﬁézﬁmﬁﬁ1zooom¢mmm
fﬁa‘cﬁ*s‘lu%;ﬁﬂﬁmaﬁ?qpro-ratamw%mme‘rfﬁ12000‘&111#?1%

(1) 4 shares for every 5 shares applied.
(2) 2 shares for every 3 shares applied.
(3) 5 shares for every 6 shares applied.
(4) 3 shares for every 4 shares applied

60. While finalizing the current year's profit, the company realized that there was an
error in the valuation of closing stock of the previous year. In the previous year,
closing stock was valued more by Rs.50,000. As a result :

(1) Previous year's profit is overstated and current year's profit is also overstated
(2) Previous year's profit is understated and current year's profit is overstated

(3) Previous year's profit is understated and current year's profit is also understated
(4) Previous year's profit is overstated and current year's profit is understated

Wa&%mﬁaﬁ@ﬁmméﬁm@#aﬁﬁwgmaﬁﬁﬁaﬁwﬁmﬁﬁm
%ﬂ@ﬁﬂﬁ@@%ﬁﬂéﬁaﬁﬁmmaﬁmsomoﬁwmm
| eiroTa=

(1) ﬁﬁﬁ%wﬁﬁa%ﬁwaﬁ%mﬁaﬁﬁﬁé
() Wﬁ@Wunderstatedgaﬁ?ﬂ]qaﬁiﬁwaﬁ?ﬁﬁg
(3) fwel af & @ understated & aiik a1, 9§ & @M 1 understated &
(4) fﬁﬁﬁﬁﬁf?ﬁwaﬁ?ﬁﬁ%aﬂ?waﬁ%wquhderstated%

61. For a work order, standard time and time taken are 20 hours and 15 hours
respectively Time rate being Rs. 2 per hour, total wages payable under Rowan
Premium Plan will be .....................

(1) 40 (2) 37-50
(3) 35 _ (4) none of these

' PG-EE-2015/(Commerce)/(A) ' P.T.O.
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62.

63.

64.

65.

PG-EE

}

frlt T8 @ fore W aHg qen fordT T WEY GHe: 20 H¢ T 15 HT 8 WA X 2
wﬁuﬁrw%Rowanf?ﬁmWfﬁaﬁﬂﬂaﬁW@a‘nﬁ_

(1) 40 — (2) 37-50

(3) 35 (4) 379 | 3I$ &

The budget that is prepared first of all is .............

(1) cash budget (2) master budget

(3) budget for the key factor (4) sales budget

(1) FHA Fofe (2) ARER 9olc

(3) WEw@T PRSP B fAY Ivrc (4) A o

Economic Batch Quantity depends on and costs-

(1) material, labour (2) set-up costs, carrying

(3) transportation, carrying (4) warehousing, labour

SNT A HFT . AR s COSES TR R BT ©

1) e, s  (2) WE-3U B AN, carrying

(3) transportation, carrying (4) YSRUI, 99

g c.osting is applied when a quantity of similar and identical products arc
manufactured together as one job

(1) job (2) batch
- (3) operation (4) output

S TF THF SRl BT TE I B WU A ST BT S & A 99 W BI-u
iR waAmT # @i Ol § ?

(1) Job (2) batch

(3) operation (4) output

The loss incurred on an incomplete contract is transferred to ------ account :
(1) costing profit and loss account (2) profit and loss account

3) trading account (4) deferred to next year

=R IEY W loss f5e WK # wreiaRa fdam S g ?
ATH-BT &Il (2) - @
(4) arTar WA & forg Trer e ®

Oo

2)[(A)




66. Primary packing is an item of --—--

19

factory overhead

(1) selling overheads (2) prime cost
(3) distribution overheads (4) factory overheads
it G fode smgew ?
(1) 99 (selling) 3Taxe<a (2) I &g
(3) fawRor siravesw (4) PREM IaxEgd

67. When factory overhead control account has an ending debit balance,
was------,
(1) over applied (2) under applied
(3) both (1) & (2) (4) none of these
mwmmmwwmwwammmm
(1) over applied (2) under applied
(3) both (1) & (2) (4) none of these

68. Basis of apportionment of stores service eXpenses is --------

(1) value of materials consumed (2) units of material consumed
(3) products produced (4) none of these

(1) value of materials consumed (2) units of material consumed
(3) products produced (4) none of these -

69. Residential status to be determined for :

(1) Previous year (2) Assessment year
(3) Accounting year (4) None of the above
aﬁﬂﬁaﬁaﬁmﬁaﬁwﬁrﬁaﬁﬁm%mwé?
(1) Roa a= : (2) ferRor q¢
(3) o ad | 4) @ el
70. Income deemed to accrue or arise in India is taxable in case of :
(1) Resident only (2) Both ordinarily resident and NOR
(3) Non-resident (4) All the assesses

PG-EE-2015/(Commerce)/(A)

P.T.0.
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74,

71.

72.

73.

S g7bH AT # accrue AT arise g8 AT A &1 A1 v fhwas forg SoRaga ® 7
(1) Resident only (2) Both ordinarily resident and NOR
(3) Non-resident ' (4) All the assesses

Income which accrue outside India from a business controlled from India is taxable
case of :

(1) Resident only : (2) Not ordinarily resident only
(3) Both ordinarily resident and NOR (4) Non-resident '

ﬁ;ﬁﬁ?ﬁﬂwwﬁw%wqﬁaaﬁmmwm%qmﬁﬁi

(1) Resident only (2) Not ordinarily resident oﬁly
(3) Both ordinarily resident and NOR (4) Non-resident

The partial integration of agricultural income, is done to compute tax on :
(1) Agricultural income

(2) non agricultural income

(3) Both agricultural and non agricultural income

(4) All of the above |

(1) PfY s () R P om

(3) T P SR W HfY 3y - (4) ST T PN

In some cases assessment year and previous year can be same financial year.
(1) True (2) False

(3) Uncertain  (4) None of the above

7o wHel § PR 99 &k e are =0 fxdia 9 & wer g

(1) True ' (2) False

(3) Uncertain (4) None of the above

Agricultural income is exempt provided the:

(1) Land is situated in India

(2) Land is situated in any rural area in India

(3) Land is situated whether in India or outside India
(4) None of the above

PG-EE-2015/ (Commerce)l (A)
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76.

77.

21
P M W B Y B TR & awrd @
(1) 4 9=a # Rea 2
(2) YA 9rRd & & o arfior & & Rerg ®
(3) 9 ¥Ra ¥ A AR RS B TR RorT B
(4) P |

R, a chartered accountant is employed with R Ltd., as an internal auditor and requests
the employer to call the remuneration as internal audit fee. R shall be chargeable to
tax for such fee under the head.

(1) Income from salaries

(2) Profitand gains from Business and Profession

 (3) Income from other sources.

(4) None of the above

AR, Uh AICS YIS T 3MaRe ol T8ed & wY 3§ o fafiee & arer akd & ol
HARD oI T Yob B WY TReAG I FRA D g Fravadm BT oFRY der |
T Y oR' 3 fow e # o o &nw ? -

(1) 999 | ma

(2) o™ 3R YR 3R I F ™

(3) 3 w9 A

(4) B T |

A has two house properties. Both are self-occupied. The annual value of :
(1) Both house shall be nil (2) One house shall be nil

(3) No house shall be nil (4) Both houses are taxable

AT U Q) FHE E AT AWE € @0 ¥ A D e A erd IR Bt
(1) Both house shall be nil (2) One house shall be nil

(3) No house shall be nil (4) Both houses are taxable

The 12th Plan Period is from :

(1) 2010-15 (2) 2011-16
(3) 2012-17 (4) 2013-18
124 AT 1Ay 7

(1) 2010-15 (2) 2011-16
(3) 2012-17 (4) 2013-18

~ PG-EE-2015/(Commerce)/(A) “P.T.O.
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78.

79.

80.

81.

82.

Who introduced cooperative society in India ?

(1) Lord Curzon (2) Lord Wavell
3) Lord Rippon (4) Lord Cornwallis
IRA # Fear affa o goend feas @ ?
(1) Lord Curzon (2) Lord Wavell
(3) Lord Rippon (4) Lord Cornwallis

The former name of State Bank of India was :

(1) Central Bank of India ~ (2) United Bank of India
(3) Imperial Bank of India (4) People's Bank of India
YR Ve dF BT qd =79 o

(1) central bank of india (2) united bank of india
(3) imperial bank of india (4) people's bank of india

The Board of Industrial and Financial Reconstruction (BIFR) came into existence in :

(1) 1984 (2) 1986
(3) 1987 (4) 1989
e v foRir gfes 9 (@ 3E U% @MR)............. ¥ 3Raed # aman |
(1) 1984 . (2) 1986
(3) 1987 (4) 1989

Deficit financing means that the government borrows money from the :

(1) RBI | (2) local bodies

(3) big businessmen (4) IMF

e 91 71 e # WeR fFed I SuR ofd ® 7

(1) w~a Rod 9@ (2) g et
(3) 93 TawHIAAl (4) SMETHAUS

Which state stands first in the length of roads in the country ?
(1) U.P. | . (2) M.P.

(3) Maharéshtra | (4) Rajasthan

PG-EE-2015/(Commerce)/(A)
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(1) U.P. (2) M.P.
(3) Maharashtra (4) Rajasthan

83. Gilt-edged market means :
(1) bullion market (2) market of government securities
(3) market of guns (4) market of pure metals

firee oR (gilt-edged) AR FT AT & -

(1) ARIBT 9TeTR @) AR gfoferdl & 9Tk
(3) dg@i B FOIR @) € ugeli B deiR
84. Decimal coinage was introduced in India in the year :

(1) 1850 (2) 1957

(3) 1955 (4) 1960

e RiaaT wRa # few ara # S fobar o ?

(1) 1850 : . (2) 195

(3) 1955 (4) 1960

85. Time value of money focuses on:

(1) Accounting Net Income (2) EPS

(3) Cash Flow (4) Current Earnings
W1 BT A e frd R BIH P © 7

(1) <er g o (2) sdgH
OIREEREIN (4) e Tt

86. All of the following statements regarding budgeting is true except :

(1) Budgeting helps managers determine the resources needed to meet their goals
and objectives.

(2) Budgeting is a key ingredient in good decision-making.
(3) Budgeting is a bookkeeping task
(4) The focus of budgeting is planning

PG-EE-2015/(Commerce)/(A) P.T.O.
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goe @ forv fre & 9 S FAT Tl T8 8 ?

(1) Budgeting helps managers determine the resources needed to meet their go

and objectives. _ -
(2) Budgeting is a key ingredient in good decision-making.
(3) Budgeting is a book-keeping task '

(4) The focus of budgeting is planning

87. You are given the costand volume information below:

Volume Cost

1 Unit _ Rs. 10
10 Units Rs. 100
100 Units 3 Rs. 1000

What type of cost is given ?
(1) Fixed Cost

(2) Variable Cost

(3) Mixed Cost

U
el (4) None of the above
v g S ST SR AE @ AR H S & ol
= Volume ' Cost
1 Unit Rs. 10
10 Units ~ Rs. 100
" Units : Rs. 1000
= P AN 8 7
— (2) uRas=a AT
(4) T & PIg TE
“tions what is taken in the numerator ?
R
(B Qg’” (2) Cost of Goods Sold
%) \
®) ¥ ;) Closing Stock
82. Whichs &9. a7 form ST 8 7
(1) U.P.% R (2) ¥ Y /A D DA

(3
(3) Maharay, @ o gon

PG-EE-2015/(Commerce)
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87.

88.

- ma‘»mﬁﬁﬁﬂﬁﬁwzﬁwwaﬁ%?

(1) Budgeting helps managers determine the resources heeded to meet their goals
and objectives. g

(2) Budgeting is a key ingredient in good decision-making.
(3) Budgetingisa book-keeping task '
(4) The focus of budgeting is planning

You are given the cost and volume information below:

Volume Cost

1 Unit _ Rs. 10
10 Units _ Rs. 100
100 Units Z Rs. 1000

What type of cost is given?
(1) Fixed Cost

(2) Variable Cost

(3) Mixed Cost

(4) None of the above
mﬂﬁ#ﬁaﬂﬁaﬂ?wzﬁaﬁﬁaﬁaﬁﬁaaﬁt%:

Volume Cost

1 Unit Rs. 10

10 Units - Rs. 100

100 Units - Rs. 1000

Y fpe oRE @ AN B 7

() ff¥Ea = (2) "Racg AN
3) @afya arma (4) ERbi! PIg B!

In the inventory turnover calculations what is taken in the numerator ?

(1) Sales (2) Cost of Goods Sold
(3) Opening Stock _ (4) Closing Stock
z9ed turnover T # numerator 3 a1 foraT TgH € 7

(1) fasr . -.(2)a%rﬂ§maa%aﬂﬂﬁ
(3) IR Wid _ (4) onfa qar g A

PG-EE-2015/ (Commerce)/(A)




89. Which of the following helps analyzing return to equity shareholders ?
(1) Returnon Assété | (2) Earning Per Share

(8) Net Profit Ratio - ' (4) Return on Investment

ﬁ‘mﬁfﬁaﬁﬁremmtosﬁﬁawmzﬁmﬁﬁwifﬂaﬁaﬂm%?

(1) |uRy wR arod (2) 9T IR B
() g€ ™ U @ ffraer wR uftwa
90. Which of the following is not considered while preparing cash budget ?
(1) Accrual Principle (2) Difference in Capital and Revenue Items
(3) Conservation Principle | (4) All of the above
TH IO IR B 0 e § F S| 78 7 o £ 2
(1) wewad Rigr (2) ot &R o 92§ afa”
(3) wxevT g (4) SR a+0
91. Capital Budgeting deals with :
(1) Long Term Decisions (2) Short Term Decisions
(3) Both (4) None
Iof AT 1 e ¥ ¥ Ry v § 2
(1) &f=1 24 faoig ' (2) Oré < faofg
(3) Qi _ 4) B T
92. Dupont analysis deals with : |
(1) Analysis of Current A_ssgats ~ (2) Analysis of Profits
(3) Capital Budgeting 4 Analysis of Fixed Assets

Dupont feerser &7 fm # & ey sy & ?
(1) =re] uREuRRY &1 frveryor (2) T BT fazeryor
(3) Ysit gwie B (4) 3t Uy &1 faveryor

PG-EE-2015/(Commerce)/(A) | ' P.T.O.
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93. Balance sheet audit is also known as::
(1) Continuous Audit (2) Annual Audit
(3) Internal Audit | (4) Financial Audit

aavzﬁtaﬁmwﬁmaﬁwwﬁaﬂwmﬁ:
(1) o e (2) @i orar et
(3) ariaRa orar ol (4) fo=irg oran oer

94. Audit Programme is prepared by:

(1) The Auditor (2) The Client

(3) The Audit Assistant (4) The Auditor and his Audit Assistant
(1) o/ El WIerd (2) @AIEE

(3) Siffde HEr® (4)@@@%3?\?@?5{?{@111‘&@%

95. The main objéct of the auditis:
(1) Expression of Opinion
(2) Detection and Prevention of fraud and error
(3) Both (1) and (2)

(4) Depends on the type of audit

oRar G BT I Sed ©
(1) < @ e (2) TEaE SR erarR iR T B P
(3) = (1) 3R () | (4) ST e & TP W AR

06. Secretarial audit is conducted by
(1) Chartered Accountant in Practice  (2) Lawyer

(3) Internal Auditor (4) Company Secretary in Practice

PG-EE-2015/ (Commerce)/(A)
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(1) = #§ Ies upraee (2) gara
(3) sriaR® srar Wierw (4) s ¥ B wRa
97. Time, extentand ............. of audit depend upon effectiveness of internal control :
(1) Nature
(2) Periodicity
(3) Relevance
(4) Format
(1) wepf | (2) q
(3) wrARTea (4) 9rsy
98. Which type of audit is conducted by the internal audit staff ?
(1) Cost Audit
(2) Secretarial Audit
(3) Internal Audit
(4) Tax Audit
SHITRE orar well Wb §RT 5 G B Irkar e smifr 2 ot & 7
(1) &FTa ol ge
(2) aferdrT orar gden
(3) adR® rar udeqr
(4) <o 3iifee
99. A statutory auditor has a right of access at all times to :
(1) Books and accounts of a company
(2) Books, accounts and documents of the company
(3) Books, accounts and vouchers of the company
(4) Notices and docﬁments of the company
PG-EE-2015/(Commerce)/(A) P.T.O.
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100.

v wiffT e wew B Y R W S ST 31 ARER T

(1) g iR B BT B @l (2) TS, @ al FT B e
(3) T, T R T B AR (4) A S T B
One of the following is not an advantage of audit :

(1) It provides satisfaction for owner

(2) It helps in getting loans

(3) It reduces cost burden

(4) It detects errors and frauds

A ¥ Y TE ol TET BT Uh BT T8 ©
(1) Te wifrs & forg wgfie wam &l &

(2) ¥E T YT HA F AGG AT ©

(3) U8 AT BT 9% HH IR &l §

(4) T8 FAt iR erEeR @ gar e |

PG-EE-2015/(Commerce)/(A)
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1. Which authority is acquired as a result of a position in organisation ?
(1) Parent (2) Rational (Legal)
(3) Charismatic (4) Traditional authority

‘aﬂq—maﬁiﬁwwﬁfwﬁuﬁra}qﬁuﬂn%mﬁ.wﬁmm%?

(1) wrar-foar (2) afq (eirren)
- (3) TR (4) TRIRT AR
2. Which theory represents lazy and docile employees ?
(1) Theory-X (2) Theory-Y
(3) Theory-Z (4) Maslow Theory
ﬁﬁw%@ﬁmmﬁwmﬁmmﬁﬁmﬁrwé?
(1) <A v (2) e g
(3) 2™t e (4) A 2T
3. Which_ of the following is an example of a convenience product ?
(1) Petrol (2) Motorcycle
(3) Bicycle (4) Athletic Shoes
wgﬁmwmwwﬁﬁﬁﬁaﬁﬁm%?
(1) 9grer (2) HreR g fde
(3) wsfire (4) verafes s

4. Anything that can be offered to a market for acquisition purpose and buyer can hold
it and it fulfills his want is :

(1) Product (2) Satisfaction
(3) Demand (4) Need

ﬁ&m%fﬁﬁa@u@wzﬁmaﬁvﬁma}mwwﬁﬁwﬁﬁmm%ﬁmw
UES B §BT BT QT FT & -

(1) Swrg (2) wdy

(3) AT (4) SoRa
PG-EE-ZOIS/(COmmerce)/(B) : P.T.O.
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Which of the following is an answer of the question "what should our business !

(1) Objective Statement (2) Vision Statement

(3) Mission Statement (4) Strategic Plan

e § & P11 39 TS BT TP WA § EAR @MR 1 BT ARy 2
(1) SexF FAH (2) @t @1 faaror

(3) TAwe gaaa _ (4) ol TS

Maslow's Need Hierarchy includes all these except:

(1) Physiological Needs (2) Safety Needs

(3) Need Recognition (4) Self Actualization
Sl T § 39 BT BISeR Ad A B

(1) TRIR® STexe _ (2) GRET BT SHRA
(3) MaTIHAT HEAT (4) STeAfITH

Early theories about how individual make decisions were based on the concep

(1) Utilitarian Philosophy (2) Action Man

(3) Economic Man (4) Rational Man

fr B9 Riofg o € e wRhE Rigra fe § 9 f5a W amRa €
(1) SufrmErd <¥F (2) TEEH A

(3) omfde H+ (4) THET AT

A major problem with a task force type of management is :
(1) There is no logical basis for task force information

(2) Its status is too inflexible

(3) Accountability

(4) Lack of planning

TP TR PR TIUT B I UH g AT ©

(1) oRep B F) AR B Y B s IR TE ®
Q) zad Rafy +ff F &

(3) SiaTEcE!

(4) o @ Al

PG-_EE-ZOlSI(Commerce)f (B)




9. Communication begins with :

(1) Encoding

(2) Decoding

(3) Channel Selection

(4) Idea Origination

(1) TIfET

(2) i

(3) = I

(4) f?:awag‘cqﬁr_

10.  Functional managers are responsible :
(1) For a single area of activity
(2) To the upper level of management and staff
(3) For complex organizational sub - units _
(4) For obtaining copyrights and patents for newly developed processes and
equipments
FTATHD FaerT Riever §
(1) 7ffafer & v € &3 @ forg
(2) T R R & HUH wR B farg
(3) Sifeet WrsHiens 37 — gareat & forg

(4) 7 Rl sl afie St & fory BHivse i 4% T o @ fore

11, Capital Budgeting deals with :

(1) Long Term Decisions (2) Short Term Decisions
(3) Both (4) None

IOl IuIfeET o7 Pt # ey e @ 7

(1) &f=1 e faoly (2) @i = ol

(3) @ 4) 31E 78

PG-EE-2015/ (Commerce)/(B) ; P.T..0.
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12. Dupont analysis deals with :
(1) Analysis of Current Assets (2) Analysis of _Profits
(3) Capital Budgeting (4) Analysis of Fixed Assets

Dupontﬁf&?{wzﬁrﬁﬂﬁ%ﬁmﬁm%?
(1) e, wReafrf @1 fawer () g BT e
©(3) Yoit §uic (4)%@%?5{%@1
13. Balance sheet audit is also kﬁoWn as:

(1) Continuous Audit (2) Annual Audit

(3) Internal Audit (4) Financial Audit

aﬁﬂﬁﬂemuﬁmaﬁwmﬁﬁwm%:
(1) @ aifee (@) affe o e
(3) arfaRe ol e (4) facira o ael

14. Audit Programme is prepared by :

(1) The Auditor (2) The Client

(3) The Audit Assistant (4) The Auditor and his Audit Assis!
ST TR FTEBH e D BRI IR FRIT ST 2|

(1) ol weTd - (2) FEC

(3) 3iffdc FE™d (4)@1@1@%@?@?57?@%&

15. The main object of the audit is :
(1) Expression of Opinion
(2) Detection and Prevention of fraud and error
(3) Both (1) and (2)

(4) Depends on the type of audit

PG-EE-2015/(Commerce)/(B)




é@Tqﬂ&ﬂiﬁTﬁ@G‘E\T@%: .
(1) 1T @1 srfyeafag (2)Waﬁ?hﬁum@aﬁvgf%aﬁwem
(3) =FI (1) @R (2) (4) < weT B YBR W R

16. Secretarial audit is conducted by :

(1) Chartered Accountant in Practice  (2) Lawyer

(3) Internal Auditor (4) Company Secretary in Practice
AT oGT TR .............. ERT SRR @ SR Tl
(1) sram # =1dE yarace (2) g@BIeT
(3) 3raRe oar wers (4) = H Huer g
17. Time, extentand ............ of audit depend upon effectiveness of internal control.
(1) Nature ' (2) Periodicity
(3) Relevance (4) Format
(1) wpfa (2) =1
(3) urdframar . (4) 9r&y

18. Which type of éudit is conducted by the internal audit staff ?
(1) Cost Audit
(2) Secretarial Audit
(3) Internal Audit
(4) Tax Audit
SRS T T TTH G R TR ) AT e AT ) ol & 2
(1) &TTd orEr gl
(2) AR oA gen
(3) RS r@r ey
(4) 2 qiffee

PG-EE-2015/(Commerce)/(B) ' o P.T.O;
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19.

20.

21.

A statutory auditor has a right of access at all times to :
(1) Books and accounts of a company

(2) Books, accounts and documents of the company
(3) Books, accounts and vouchers of the company

(4) Notices and documents of the company

wﬁﬁ%a@uﬁ%zﬁfﬁqmwa%qmﬁmm%:
(1) g SR TE FOR B @l @) e, @t ai FE B e
(3) TS, Tl SR B B AR (4) ETY SR B & A '

One of the following is not an advantage of audit :
(1) It provides satisfaction for owner

(2) It helps in getting loans

(3) It reduces cost burden

(4) Tt detects errors and frauds

frey 3 A @ o TET BT P HIAGT T S -
(1) Te TR @ fory wgfe gam FRal €

(2) T8 FOT OTE G N HEG BT ©

(3) T @rTd @1 a5 & PR Al 8

(4) e FfeA ok drEE BT g T

Income which accrue outside India from a business controlled from India is |
case of :

(1) Resident only (2) Not ordinarily resident only
(3) Both ordinarily resident and NOR  (4) Non-resident

ﬁgﬁﬁ%wwﬁwﬁwqﬁﬁaﬁmﬁmﬁmmzﬁw

(1) Resident only _ (2) Not ordinarily resident only
(3) Both ordinarily resident and NOR  (4) Non-resident

PG-EE-2015/ (Commerce)/(B)




22. The partial integration of agricultural income, is done to compute tax on :
(1) Agricultural income
(2) non agricultural income
(3) Both agricultural and non agricultdral income
(4) All of the above

(1) P sma
(@) R Pf¥ s
(3) 2 P sk R PR ama
(4) SWRIF |y
23. Insome cases assessment year and previous year can be same financial year.
(1) True (2) False (3) Uncertain (4) None of the above
Bo A § Fufvor af ok Rws e i R 98 2 v 2
(1) True (2) False (3) Uncertain (4) None of the above

24. Agricultural income is exempt provided the:
(1) Land is situated in India
(2) Land is situated in any rural area in India
(3) Land is situated whether in India or outside India
(4) None of the above
HfY M R BT yoT B T L qvrd 7
(1) 4H 9~a & Rerg &
(2) 9 9RT B fHef N wmior B F R @
(3) I wRT # 1 U’ IR B TR R &
4) 1% 7

25. R, achartered accountant is employed with R Ltd., as an internal auditor and requests
the employer to call the remuneration as internal audit fee. R shall be chargeable to
tax for such fee under the head. :

(1) Income from salaries

(2) Profitand gains from Business and Profession
(3) Income from other sources

(4) None of the above
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m%é@r'uﬁwwzﬁmﬁmﬁmwwﬁ%mﬁmﬂmaﬂeﬁﬁw%
sﬂﬂ%m'm'aﬁﬁm%sﬁéwéma‘m?

(1) ¥ | I
(2) @m 3R AR SR W A
(3) 3 Fal W A
(4) B3 T

26. A has two house properties. Both are self-occupied. The annual value of 2
(1) Both house shall be nil (2) One house shall be nil
(3) No house shall be nil (4) Both houses are taxable
Az#wma’rwm%aﬁ:ﬁﬁAwdé‘rw%Aﬁwzﬁft@m%}qs’nﬁ
(1) Both house shall be nil (2) One house shall be nil
(3) No house shall be nil (4) Both houses are taxable

27. The 12th Plan Period is from :

(1) 2010-15 (2) 2011-16
(3) 2012-17 (4) 2013-18
1238t ot S ®

(1) 2010-15 (2)-2011-16
(3) 2012-17 (4) 2013-18

28. Who introduced cooperative society in India ?

(1) Lord Curzon (2) Lord Wavell

(3) Lord Rippon (4) Lord Cornwallis
R ¥ wEE Ry B goed fHeT

(1) Lord Curzon ~ (2) Lord Wavell

(3) Lord Rippon (4) Lord Cornwallis

29. The former name of State Bank of India was :
(1) Central Bank of India (2) United Bank of India
(3) Imperial Bank of India (4) People's Bank of India
PG-EE-2015/(Commerce)/(B)
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(1) Central Bank of India (2) United Bank of India

(3) Imperial Bank of India (4) People's Bank of India

30. The Board of Industrial and Financial Reconstruction (BIFR) came into existence in :

(1) 1984 (2) 1986
(3) 1987 (4) 1989

SIS T4 fefry gefar are (4 3¢ % IR)........ ¥ sReeg 37T |
(1) 1984 (2) 1986

(3) 1987 (4) 1989

31. Which of the following will not be included in the money supply ?

(1) Gold Coins ' (2) Checking Account Deposits
(3) Currency (4) None of the above
ﬁmﬁﬁﬁﬂ-wgmﬁaq%ﬁma Tt foam o 2

(1) 99 3 Ry (2) @mar s :

3) 7= @ T B o 78

32. The difference between money and income is that :
(1) Money is a flow and income is a stock
(2) Money is a stock and income is a flow
(3) There is no difference
(4) None of the above
4T SR 3T & 99 areR 7w 2 ) -
(1) 35T TP 9418 © SR 317 1 stock &
) 35T TP stock € 3R oMy 7o ware &
(3) ¥ sfer e}
4) T 3 B¢ f 78

33. A loan due for repayment in 20 months time has been included as a current liability.
What will be the effect when this is corrected ?

(1) Increase in net assets (2) Increase in current assets

(3) No effect on net current assets (4) Reduce net current assets
PG-EE-2015/ (Commerce)/(B) (PaT. O.
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34.

35.

36.

waﬁaﬁwﬁwzﬁrmzonﬁﬁm%ﬁwmﬁﬁﬁmﬁammw%
= T B W SAGT TG AT BT 7

(1) & waRy ¥ 9fa - (2) adAm dafy ¥ gfE
(3) I TAHE Ul W BIE 949 T (4) I Ao uReafl §

What is the effect on a company's balance sheet of issuing bonus shares?

(1) The bank balance will be increased |

(2) The long term liabilities will be increased

(3) The reserves will be reduced

(4) The share capital will be reduced

G IR O B B T FUA B o die W g FE 7

(1) ¥F doid 9% S ) < e @ AR ¥ 9y @ s

(3) Reserves &4 &I ST (4) IR YR FH & S

Liability for bill discounted is a .....

(1) Current liability (2) Contingent liability

(3) Fixed liability (4) None of the above

et discounted @ Y TMAT TH T v
(1) Current AT (2) .Contingent?{ﬁﬁ
3) fres Tl (4) 38 & Prg AN e

An old, machine was purchased for Rs. 60,000. It was repaired for Rs. 5,000 and R
5,000 paid on its installation. Machinery repairs A/c will be debited by -—

(1) Rs 10,000 (2) Rs 5,000
(3) Rs 15,000 (4) None of the above

T QR " BT 60,000 TUF H W= o | S FEHA TR 5000 $UY @A §Y | 5000 %
T T TR YT {5 | A @ wRE account <fde B AT ....occeee.

(1) 10,000 ¥4 (2) 5000 TUY
(3) 15,000 TG (4) 379 | DIz A T
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37. X Ltd. purchased the business of Y Ltd. for Rs. 9,00,000 payable in fully paid shares of
100 each at a premium of 25%. The number of shares to be issued by X Ltd. to settle
the purchase consideration Lcd ) o R

(1) 7000 (2) 5000
(3) 7200 (4) None of the above

GGt 7,
(1) 7000 (2) 5000
(3) 7200 | () 399 & B 9§ 75

38. The following information pertains to X Ltd. : (1) Equity share capital called up Rs.
10,00,000; (2) Calls'in arrear Rs. 50,000; (3) Calls in advance Rs. 20,000; (4) Proposed
dividend 10%. The amount of proposed dividend payableis ... '

(1) 95,000 (2) 90,000
(3) 98,000 (4) 1,00,000

= S x foafies & wefg & - (1) called up sfagedt s ST B9 10,00,000; )
IPHT B9 50,000; (3) 31 et gy 20,000; (4) TR omateT 10% | weeRa RIGINECS]

RN ST L
(1) 95,000 (2) 90,000
(3) 98,000 (4) 1,00,000

39. A company offers to the public 10,000 shares for subscription. The company receives
application for 12,000 shares. If the shares are allotted on pro-rata basis, then
applicants for 12,000 shares are to be allotted as :

(1) 4 shares for every 5 shares applied.
(2) 2 shares for every 3 shares applied.
(3) 5 shares for every 6 shares applied.
(4) 3 shares for cvery 4 shares applied.

wmﬁm'ﬁlomomaﬁwmﬁémaﬁ12000%#%%??@2%?1?
ﬁaﬁéfﬁwaﬂmﬁpro—ram&mwﬁmmﬁﬁ12000WH§T
W e 59 yar Ry ?

(1) 4 shares for every 5 shares applied.
(2) 2 shares for every 3 shares applied.
(3) 5 shares for every 6 shares applied.
(4) 3shares for every 4 shares applied.
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40.

41.

42.

While finalizing the current year's profit, the company realized that there was an
error in the valuation of closing stock of the previous year. In the previous year,
closing stock was valued more by Rs.50,000. As a result : '

(1) Previous year's profit is overstated and current year's profit is also overstated
(2) Previous year's profit is understated and current year's profit is overstated
(3) Previous year's profit is understated and current year's profit is also understated

(4) Previous year's profit is overstated and current year's profit is understated

e a8 @ ol B ST EY Iq FHI U P A IEAR g B vt 99 SifaH e
%@Wﬁ@gﬁﬁﬂéﬁﬁaﬁwﬁﬁﬁmaﬁmwomﬁmmm
| FiTSTe

(1) Roa af & o R & ok a1 av & o A aiferfora &
(2) fee af & @™ understated & 3R a1 A & ™ AR €
3) foe af & @™ understated & 3R a1 9§ & @ 4 understated &
(4) o ad & o sfRfa & ok are] 9§ @ @™ understated &

The name of the company can be changed by ....

(1) An ordinary resolution

(2) A special resolution

(3) The approval of the central government

(4) A special resolution and the approval of the central government
FIN FT A, ........... J IGAT T FHAT © |

(1) & ARIRY FHed

(2) faey d@aey |

(3) BT WHR A Fod W

(4) 9T Foey 3R = IR BT FoR A

When a company said to have been registered ?

(1) When it files the memorandum of association with the registrar of companies
(2) When it gets the certificate of incorporation

(3) When it gets the certificate of commencement bf business

(4) When it actually starts its business
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44,

45.

PG-EE-2015/ (Commerce)/(B)

(1) mwvﬁwmmﬁﬁw%mmwwﬁ%
(2) mwﬁﬁmmmw%ﬁ@zﬁaw?
(3) msﬁ_mm%mﬁm?ﬁ%afﬁam%

- (4) mwwﬁmwwmé

The ... defines the Scope of a company's activities,

(1) Prospectus (2) Statutory Declaration
(3) Memorandum of Association (4) Articles of Association
(1) ST (2) ®nfes s

(3) TN aifg TaIRgerT (4) TR B oy

(1) Aprivate limited company

(2) A cooperative society

3) A company that has issued a prospectus

-(4) A public company that has not issued a prospectus

ﬁwﬁﬁaﬁﬁ-ﬁmm‘@mﬁwww@ﬁém%ﬁ%?

The doctrine of indoor Management means .......... .

13

(1) strangers 'dealing with the company may assume that everything is done

regularly

(2) strangers must énquire into the regularity of proceedin gs

3) strangers can afford to be negligent as regularity is the company's responsibility

(4) constructive no tice

FHPIT. O,
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46.

47.

48.

49.

sﬂ@ﬂqﬁaﬁzﬁmﬁﬁaé%
(1) ﬁqﬁ%www@ma‘mﬁmﬁaﬁmﬁim@%mw%

2) aiq#‘r‘a%mazﬁmaﬂv%a‘m1sﬁnﬁw-ﬁaﬁaﬁm‘ﬁﬁmaﬁbﬁﬂﬁwm
g 1 7 '

(3) aﬁﬁmwwm%wﬁww%mmm&ﬁﬁa@%
(4)@?%3%%‘{%

The Reserve Bank of [ndia is an example of a __

(1) registered company (2) statutory company
(3) chartered company (4) unlimited company
(1) defiga FI (2) wifafed o
(3) S B (4) RO Ful

A decrease in the growth rate of the money supply is likely followed by:

(1) A recession : (2) A recovery

(3) A boom (4) Inflation
gqu%ﬁq%mﬁaﬁﬁmwa?m?

(1) T& " 2) & R

(3) TR il (4) B
Money appears to have a major influence on :

(1) Inflation (2) The Business Cycle
(3) Interest Rates 4) Al of the above
g e 3 1 e oY A ST S g7

(1) HEEDIA (2) SR =D

(3) &S R ' (4) SwEd

Currency includes :

(1) Paper money and coins

(2) Paper money, coins and cheques
(3) Paper money and cheques

(4) Paper money, coins, cheques and savings deposits
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(1) BS99 3R Ryga

(2) arTe N, Rigd @ik 9%

(3) BT U SR &

(4) ®rTS 99, Ryad, 9 ik T9q o

50. Credit cards are:
(1) Not money but a way of transferring money
(2) Money since they act as medium of exchange

(3) A store of value
(4) Identical to debit cards in every way

Dfee e @ :

(1) 91 81 &, AfT 0 & SR BT U a9

(2) %ﬁm%w@wﬁmma}wwﬁﬁ
@) T @1 Hoy

(4) & e 9 fe &€ & g

51.  Which one of the following relates to an implied warra nty ?
(1) Disclosure of dangerous nature of goods
(2) Title to goods
(3) Sales by sample
(4) Sale by description

FreferaT # & ®-a1 v 1T IR @ <l 2 7
(1) AT BN GRATS TR BT THSTpRor

(2) 911 & forg N
(3) g fasm!
(4) 99 gRT fazs
52. A seller agrees to supply a crop which is to be grown by him. Thisis a:
(1) Sale (2) Anagreement to sell
(3) Bailment (4) Contract for work and labour

PG-EE-2015/(Commerce)/(B) P.T. 0.
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53.

54.

55.

wﬁﬁmmmmaﬁmﬁmaﬁmﬁmﬁ%mﬂmﬁ%ww:
(1) fam & (Z)Waﬁaﬂﬁzﬁ%ﬂﬁ?ﬁwﬁﬁr%
(3) Jerie ? (4) e SR uRsm & R orgeE ©

A document is said to be a document of title when :

(1) It contains a conditional undertaking to deliver the goods

(2) It contains an unconditional undertaking to deliver the goods
(3) It contains an unconditional order to take delivery of the goods

(4) Tt contains a conditional order to take delivery of the goods

Wmﬁﬁwﬁw%aw&maﬂwm%:
(1)%Waﬁ$%ﬂwﬁwﬁwﬁa |

() agwﬁaﬁamﬁa%%qwfamﬁwﬁwﬁw '
®3) e e A RS o @ fog e wd snew g ©

(4) agwaﬁ%sﬁaﬁaﬁa%quzﬁmﬁmaﬁm%

An offer may lapse by :

(1) Revocation  *

(2) Counter Offer

(3) Rejection of offer by offeree

(4) All of the above

T TR AT B DT T

(1) foRes @

(2) A RATG A

(3) TRATaE ERT UG Bl IRAGHA kil
(4) TG TN H

A proposal when accepted becomes a :
(1) Promise

(2) Contract

(3) Offer

(4) Acceptance
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U9 Y19 S1q WBR & ST & 9 g8 o7 a9 orar & 2
(1) grer o

(2) orgey

(3) u=Tg

(4) wErpfa

56. Moral pressure is involved in the case of :

(1) Undue Influence (2) Coercion
(3) Misrepresentation . _ (4) Fraud
A <O & A A e @ |

(1) sraifed s (2) SeREwh
(3) TE@T | (4) el

57. Consideration must move at the desire of :

(1) Promisor (2) Promisee

(3) Any Other Person (4) None of these
Consideration fbwe! $287T W iR @1 21 ?

(1) Promisor | (2) Promisee

(3) e o afem (4) ¥ 9 B T

58. An executor consideration is: .

(1) Consideration promised by executive of a company

17

(2) Consideration which consists simply of a mutual exchange of promise each being

a consideration for the other
(3) Consideration which should be executed on the future date

(4) Consideration which should be executed before the court
U TRRIFYER H-aeXe &

(1) U & SEBN ¥ ara7 b

(2) wgﬁﬁmm-mw%wmﬁm

(3) wﬁmaﬁﬁﬂﬂmwﬁmﬁa%mwwwﬁw

(4) =TT & |9t T v oI aren AR
PG-EE-2015/(Commerce)/(B)
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59. What is known as a charter of a Company ?

(1) Memorandum of Association (2) Byelaws
(3) Articles of Association (4) Prospectus
frer § & fra® SN BT AR HET ST 8 7

(1) ¥HRSH i TR (2) 918
(3) anfémex i THIRTQL (4) WRATew

60. Dividend on preference capital is paid .....
(1) Whenever there are profits
(2) When there is loss
(3) Even if there are no profits
(4) After dividend is paid to equity shares
e SOl TR e @7 T fhar Sian §
(1) <@ 9 & 81 IR B
(2) W@ B Bl ®
(3) @™ 7 B @ B
4) 3RS T R A B AT @ 9IS

\9/ Electronic Clearing.Service in Banks can be availed only by :

(1) Individuals . (2) Corporates .

(3) Senior Citizens (4) All of the above
ﬁaﬁﬁmmﬁﬂﬂﬁﬂﬁa}wsﬂﬁmmmmm%:
(1) wfai (2) BraReH

3) aRss ArIRSI (4) ST |

62. Nowadays banks are selling third party products. Examples of third party productis :

(1) Mutual Funds (2) Term Deposits

(3) Credit Cards (4) All of the above

aTorel dF R UE B Seardl @ R 3R I8 ¥ | G g SIS B SETER
(1) g B (2) wmafey o

(3) Bfdc &1 (4) SR a
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63.

64.

65.

66.

What is the median of the following set of scores? e we
18,6,12,10,14?

1 10 () 14

3) 18 4) 12

= & Hifegs =y 2 2

18,6,12,10,14 ?
(1) 10 2) 14
3) 18 @ 12

The denominator (bottom) of the Z-score formula is :
(1) The standard deviation
(2) The difference between a score and the mean

(3) The range

(4) The mean

ZFBR B ¥ R @@ By f ?
(1) 5% fa=er

(2) Score 3R Mean & g &7 sigR
(3)

(4) Mean

The standard deviation is :

(1) The square root of the variance

(2) A measure of variability

(3) An approximate indicator of how numbers vary from the mean
(4) All of the above

AP ey & -

(1) faaRor 1 qefye
(2) uRadefrerar &1 v drex
3) Meanﬁw%ﬁwaﬂwaawﬁaw

(4) SWRIFT

A graph that uses vertical bars to represent data is called a ............
(1) Line graph ~ (2) Bar graph

(3) Scatterplot (4) Vertical graph

PG-EE-2015/(Commerce)/ (B)
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67.

68.

69.

70.

Wmeﬁ%quﬁrﬁﬁamﬁ%fm@@ﬂmma@ﬁﬂm%wm%:
(1) «eA I Q) IR TE
(3) WX wie (4) SRR B

The most frequently occurring number in a set of values is called the ...........

(1) Mean - (2) Median
(3) Mode (4) Range
aaﬁ%wéaﬁagﬁaﬁmmﬁmwmﬁ%?
(1) Mean (2) Median
(3) Mode (4) Range

How many dependent variables are used in multiple regression ?

(1) One (2) One or more

(3) Two or more (4) Two

eder Rrem ¥ fea e R B E7

(1) & (2) v a1 A

(3) 37 a1 /A ST (4) ]l

Non-overlapping categorles or intervals are KNnOwn as ............

(1) Inclusive (2) Exhaustive

(3) Mutually exclusive (4) Mutually exclusive and exhaustive
A aiftreardy iftra a7 SfeTe T AT AT R

(1) wffed ) wﬁ

(3) WER FTY (4) RER I AR /Y

if a distribution is skewed to the left, then it is ...occoeivennees

(1) Negatively skewed (2) Posmvely skewed
(3) Symmetrically skewed (4 Syr_nmetncal_
CRESCIUIIC A CLLES ﬂ‘r TE T .. |

(1) TFREHD <l Q) wFHRHSD v

(3) Symmetrically fas _ (4) Symmetrical

PG-EE-2015/(Commerce)/(B)
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71. For a work order, standard time and time taken are 20 hours and 15 hours
respectively Time rate being Rs. 2 per hour, total wages payable under Rowan
Premium Plan will be................. ' '

(1) 40 (2) 37-50
(3) 35 (4) None of these

ﬁﬂﬁmﬁﬁvmwam%{mwwm: 20 5 T 15 6 & Wy =v D
WWW%RowaHWWEﬁW@WW:

(1) 40 (2) 37-50
@3 @) T & B
72. Thebudget that is prepared first of all is ...........
(1) cash budget (2) master budget
(3) budget for the key factor (4) sales budget
(1) 7 gore (2) HRER qore
() WEaY HRF & fv goe (4) A go1e
73. Economic Batch Quantity depends on and -------costs-
(1) material, labour f2) set-up costs, carrying
(3) transportation, carrying (4) warehousing, labour
e &9 A . SR costs TR fAHR war ¢
(1) wrah, sm (2) ¥e-319 # e, carrying
(3) transportation, carrying (4) HSRYI, 319
74. The - costing is applied when a quantity of similar and identical products are
manufactured together as one job :
(1) job (2) batch
(3) operation | (4) output
mwwmﬁmwmﬁmﬁwﬁmw%mwm@hﬁ
PIRCT JarT % o1 ey & 2
(1) Job (2) batch
(3) operation (4) output

PG-EE-2015/(Commerce)/(B) ‘ e f0p T o,
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75. The loss incurred on an incomplete contract is transferred to --—---- account :
(1) costing profit and loss account (2) profit and loss account
(3) trading account (4) deferred to next year
wa&gﬁmu?lossﬁm@ﬁﬁwmﬁﬁa%mw%?
(1) @TTd -8 Tt (2) - Tt
(3) SR @ (4) s e D R o R E
76. Primary packing is an item of ----—-
(1) selling overheads (2) prime cost
(3) distribution overheads (4) factory overheads
yreifies AT bt emged & 7 |
(1) ¥= (selling) AaRESH (2) & AN
(3) faaxor faesd (4) HRAH AEReH
77. When factory overhead control account has an ending debit bélance, factory overhea
was------ .
(1) over applied _ (2) undef applied
(3) both (1) & (2) (4) none of these
mm@m@@ﬁaaﬁmmﬁm%ﬁaﬁﬂaaﬁmm@w:
(1) over applied (2) under applied
(3) both (1) & (2) (4) none of these

78. Basis of apportionment of stores service expenses {5 EReaas

(1) value of materials consumed (2) units of material consumed
(3) products produced (4) none of these
(1) value of materials consumed (2) units of material consumed
(3) products produced (4) none of these

79. Residential status to be determined for :
' (1) Previous year (2) Assessment year
" (3) Accounting year (4) None of the above
PG-EE-2015/(Commerce)/(B)




aﬂmﬂwﬁaﬁfmﬁaﬁw%emffﬁﬁq%mm%?

(1) e e (2) fuRor o (3) orar oy (4) ®1E 7E

80. Income deemed to accrue or arise in India is taxable in case of :
(1) Resident only _ (2) Both ordinarily resident and NOR
(3) Non-resident (4) All the assesses
ﬁmsﬁmﬁaccruemarisegéﬂﬁﬂ?ﬂ@ﬁﬁﬂ?m%%'qéﬁaﬂﬁ:
(1) Resident only (2) Both ordinarily resident and NOR
(3) Non-resident (4) All the assesses

81. hich Financial Statement Displays the revenues and expenses of a company for a
period of time ?
(1) Income Statement (2) Balance Sheet
(3) Cash Flow Statement (4) Statement of Stockholder
aﬁﬂ-mﬁ?ﬁwﬁwwﬁaﬂfﬁ%ﬁww?ﬁﬁa%waﬁ?muﬁhw%?
(1) s Qg (2) ¥ wie
(3) T warE fagror (4) SerirEft & fagror |

82. What is the main purpose of financial accounting ?
(1) To organize financial information
(2) Provide useful, financial information to outsiders
(3) Keep track of company expenses
(4) All of the above
fadiia orates &1 e wey @ & ?
(1) ﬁ{?ﬁaﬁfﬁiﬂﬂﬁaﬁ‘rwﬂﬁ%mﬁf%m
(2) Waﬁﬁa‘ﬁﬁqmﬁ?ﬂumﬁmmaﬂﬁéfﬁq
3) Eﬁuﬁ’ra%@ffq?ﬂtﬂ?wﬁfa%%q

(4) SWIFT
83.  Which of these is not included as a separate item in the basic accounting equation ?
(1) Assets (2) Revenues
(3) Liabilities (4) Stock Holder's Equity
PG-EE-2015/(Commerce)/(B) P.T'O}
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84.

85.

86.

87.

?ﬁﬁﬁﬂwgﬁwa@hﬂmﬂﬁwmmzﬁwﬁmﬁﬁ 781 faar S
? .

(1) wufa | (2) NIoT¥

(3) T (4) RIPuRS B Eiaﬂf‘fl

Which financial statement uses the expanded accounting equation ?

(1) Income Statement (2) Balance Sheet .
(3) Cash Flow Statement (4) Statement of Stockholder s Equlty
aﬁﬂ-ﬂrﬁfﬁﬂﬁmﬁﬁwﬁaé@ﬂwzﬁrwzﬁw%? i
(1) oma faavor (2) Sefw e

(3) B vare faavor - (4) sfwrarh A RS @ faaRer

The accrual basis of accounting records revenue when they are :

(1) Earned _ (2) Collected

(3) Contracted (4) Readily available for use

SR T SIS SHR IO Hferd TRl €

(1) Rt (2) ¥HTaT

(3) rgaferd (4) ST B g SR §, Suere
The account format that displays debits, credits, balances and headings :

(1) General Ledger (2) General Journal

(3) Ledger Account . (4) T-Account

sfae, wise, QGT@T@?WH#W-W@WWW%W%:

(1) |m=T qerardr ' (2) ATHG ST

(3) 9=l W@rdn (4) -G

Asset accounts have what type of balance ?

(1) Debit (2) Credit

(3) Contra (4) All of the Above
qRerafRy @l @ AT BT RN TR T 7 |

1) 3fae Sy wee

(3) BT (4) SR W
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88. Which account is not a liability account ?

(1) Accounts Payable : (2) Accrued Expenses
(3) Cash ' - (4) Notes Payable
=1 % ¥ B mﬁm iG] %"’T g ?
(1) 27 @R (2) Suiista @<
(3) @w ' @) 3T 7|

89. Which account increases equity ?
(1) Expenses : (2) Withdrawals
(3) Treasury stock (4) Revenues
PITH W W 3 93 Wl & 2 |
(1) = | (2) Forf
3) =ot wefp - (4) oI

90. A contra asset account has what type of balance ?

(1) Debit (2) Credit
(3) Contra (4) All of the above
wﬁqﬁﬁqﬁwﬁrmﬁaﬁﬂwmmwmé?
(1) Sf3e B o (2) »fee
(3) i1 (4) ST w4

91. Deficit financing means that the government borrows money from the :
(1) RBI (2) local bodies
(3) big businessmen - (4) IMF
e AR e ¥ weR R 4w o 2 2
(1) s Rad 5o (2) ¥era el
@) ¥ FgaRE oo (4) anéqqu

92. Which state stands first in the length of roads in the country ?
{1} U.P. : (2) M.P.
(3) Maharashtra (4) Rajasthan

“y Y
3O
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297 ¥ AP BT dGS H UgeA IS B AT ® 7
1) U.P. (2) M.P.
(3) Maharashtra (4) Rajasfhan

93. Gilt-edged market means :
(1) bullion market (2) market of government securities
(3) market of guns (4) market of pure metals

firee &R (gilt-edged) ISR &1 Hefeld & :

(1) HRTBT doTR 2) AxeR Rl & IR
(3) SgHI B dNIR @) I 9gRil P IR
94. Decimal coinage was introduced in India in the year :
(1) 1850 (2) 1957
(3) 1955 (4) 1960
9Tl Ryt wRa A faa arar § g foar war o ?
(1) 1850 (2) 1957
(3) 1955 (4) 1960

95. Time value of money focuses on:

(1) Accountihg Net Income (2) EPS

(3) Cash Flow (4) Current Earnings
TET BT A A O W BIpd e ® 7

(1) o g I (2) $deE

(3) @dl garE (4) AT IRl

96. All of the following statements regarding budgeting is true except :

(1) Budgeting helps managers determine the resources needed to meet their goal
and objectives.

(2) Budgeting is a key ingredient in good decision-making.
(3) Budgeting is a book-keeping task
(4) The focus of budgeting is planning
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(1) Budgeting helps managers determine the resources needed to meet their goals
and objectives. :

(2) Budgeting is a key ingredient in good decision~making.
(3) Budgeting is a book-keeping task
(4) The focus of budgeting is planning

97. You are given the cost and volume information below:

Volume - Cost

1 Unit Rs. 10
10 Units _ Rs. 100
100 Units _ Rs. 1000

What type of cost is given ?
(1) Fixed Cost

(2) Variable Cost

(3) Mixed Cost

(4) None of the above
mq?ﬁr:ﬁ%amasﬂ?wa%mﬁﬁwzﬁr&ﬁvﬂ?ﬁ%:

Volume Cost
1 Unit Rs. 10
10 Units Rs. 100
100 Units Rs. 1000
A 5T TR A e & 2
(1) Ff¥=a arg (2) 9Rad~g arrg
(3) P emr 4) 7 d 3 7

98. In the inventory turnover calculations what is taken in the numerator ?
(1) Sales _ (2) Costof Goods Sold
(3) Opening Stock (4) Closing Stock
$79eq turnover TorT ¥ numerator § 7 3 Sy & ?
(1) fa=h ' (2) 99 TT T F g
(3) IRfF weiw (@) aiRed 3T AT
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99. Which of the following helps analyzing return to equity shareholders ? -
(1) Return on Assets (2) Earning Per Share

(3) Net Profit Ratio (4) Return on Investment

fr % § @1 return to 3RAS! IR URST B g favewer # #eg FRaT ® ?
(1) SRy W o (2) 5y IR B |
(3) T& @ g @) Prw w SR

100. Which of the following is not considered while preparing cash budget ?

(1) Accrual Principle (2) Difference in Capital and Revenue Iter
(3) Conservation Principle '- (4) All of the above

THE) goTe TR B G = # Q§ P T A o @ 7

(1) e g (2) ol 3R o wE H SR

(3) wreror Rygra  (4) SR Wi
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1, Electronic Clearing Service in Banks can be availed only by :

o

(1) Individuals (2) Corporates .
(3) Senior Citizens (4) All of the above
ot # goagie fFoafn 9fdw ¥ daa 39 & gRT AN ISAT 1 Fahal ®
(1) eafdm (2) PR
(3) aR= ArTR®I (4) SR |
2. Nowadays banks are selling third party products. Examples of third party product is :
(1) Mutual Funds (2) Term Deposits
(3) Credit Cards (4) All of the above
AThel I AR Uel & STl @ st wR @ & | JA ueT IqE B IAERY §
(1) =Igeret wea (2) wrafy S
(3) Bfee Bre (4) SRIGd T

3. What is the median of the following set of scores?

18,6,12,10,14?

(1) 10 (2 14

(3) 18 ; (4) 12

e & fifea qar 2 ? '
18,6,12,10,14?

(1) 10 (2) 14

@3) 18 4) 12

4. The denominator (bottom) of the Z-score formula is:
(1) The standard deviation
(2) The difference between a score and the mean
(3) Therange
(4) The mean
Z-pR Be # e @@ g @
(1) a9 fage
(2) Score 3R Mean @& &g &7 3R
(3) T
(4) Mean
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5. The standard deviationis:
(1) The square root of the variance
(2) A measure of variability
(3) Anapproximate indicator of how numbers vary from the mean
(4) All of the above
A fage € ¢
(1) fre—or &1 ai
(2) aRadwerar H1 gH HIex
(3) Mean @ TRl & fager o1 TP ST AP

(4) SR & TN

6. A graph that uses vertical bars to represent data is calleda ..cocoeeene
(1) Line graph (2) Bar graph
(3) Scatterplot - (4) Vertical graph
wmﬁ@aw%mﬁ%ﬁqa@m@ma@ww%ww
(1) g 9% (2) IR I
(3) Ther wile (4) TEARR UTH

7. The most frequently occurring number in a set of values is called the ...........
(1) Mean (2) Median
(3) Mode (4) Range
aﬁﬁwmﬁa@wmmwwmﬁ%?
(1) Mean - (2) Median
(3) Mode (4) Range

8. How many dependent variables are used in multiple regression ?

(1) One (2) One or more
(3) Two or more 4) Two
rediaer Rire ¥ fres e WAAA T 7
(1) v () TH = D
(3) <1 AT SA™ AT (4) <
9. Non-overlapping categories or intervals are known as .............
(1) Inclusive (2) Exhaustive
(3) Mutually exclusive (4) Mutually exclusive and exhaus
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R siforamdt AR a7 SfaRTel &Y ST Al & .o,
(1) afeafer (2) wqoi

(3) URRUR 3 (4) WRER FY AR Gy

10. If a distribution is skewed to the left, then it is ................. |
(1) Negatively skewed (2) Positively skewed

(3) Symmetrically skewed - (4) Symmetrical
(1) THRTHAS <ol (2) APRTHS fauq
(3) Symmetrically faws (4) Symmetrical

11. Which one of the following relates to an implied warranty ?
(1) Disclosure of dangerous nature of goods
(2) Title to goods
(3) Sales by sample
(4) Sale by description
fer=ifoRaa # & @-a1 g Thfa aRE | ddfea § 7

(1) W & GARATH UFHA BT YHSIBR]

(2) 711 & forv ofds
(3) g fat
(4) avi gr1 fam
12. A seller agrees to supply a crop which is to be grown by him. Thisis a :
(1) Sale ' ‘ (2) An agreement to sell
(3) Bailment (4) Contract for work and labour
e fAwar SHa GRT SE S arell Bad @Y TYf B B forv WeRa B | U8 U ¢
(1) fash & | (2) A B 999 P IV TP GHSIar @
(3) derie B (4) WeTa iR uRsM & forg ordy &

13. A document is said to be a document of title when :
(1) It contains a conditional undertaking to deliver the goods
(2) It contains an unconditional undertaking to deliver the goods
(3) It contains an unconditional order to take delivery of the goods

(4) It contains a conditional order to take delivery of the goods
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(1) I8 711 39 & g |erd Suspa & e '

(2) 98 9 faaRd &1 & forg o e o1d Suspw § wfta
(3) IE "I A e o & fog e o amder g @

(4) I8 911 o fSelta) o9 & U ve |9d ey & r &

14. An offer may lapse by :
(1) Revocation
(2) Counter Offer
(3) Rejection of offer by offeree
(4) All of the above

U YRGS & AT © ¢

(1) s«

(2) SEEr waE A

(3) UKD §RT UAHA DI JRATPI
(4) SWRIFT T |

15. A proposal when accepted becomes a :
(1) Promise
(2) Contract
(3) Offer
(4) Acceptance : .
U YR S WIHR B ST 8 99 Y&t 97 99 Il @ ¢
(1) arer
(2) srgew
(3) A

(4) wrpfa

16. Moral pressure is involved in the case of :
(1) Undue Influence (2) Coercion
(3) Misrepresentation (4) Fraud

AP <99 B 7HA H A 2
(1) raifesa gumg (2) STaREw

(3) SEBMI (4) v
PG-EE-2015/(Commerce)/(C)




17. Consideration must move at the desire of :

(1) Promisor (2) Promisee

(3) Any Other Person (4) None of these
Consideration @ 28T IR IAFIART AT BR1 -

(1) Promisor (2) Promisee

(3) forsdt s e (4) 377 | B3 7L

18. An executor consideration is :
(1) Consideration promised by executive of a company

(2) Consideration which consists simply of a mutual exchange of promise each being
a consideration for the other

(3) Consideration which should be executed on the future date

(4) Consideration which should be executed before the court
TP TRARICY HIFSRTH ¢

(1) BUN & FRIGR 7 draT fear

) e R @ forg T o <@ © U uRwaR@ fafa

(3) wfrsg &9 fot aig R Fremfea fan S aren areT faar
(4) sreTerd & T fenfa faar s aren faar

i

19. What is known as a charter of a Company ?

(1) Memorandum of Association (2) Byelaws
(3) Articles of Association ; (4) Prospectus
= 3§ < e U T AR FET o @ 7

(1) ¥ReH sife gaRve (2) a1g <y
(3) onfeme aifh TAIRIGYH (@) dieaed

20. Dividend on preference capital is paid .....
(1) Whenever there are profits
(2) When there is loss
(3) Even if there are no profits

(4) After dividend is paid to equity shares
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a8 GOl TR e @1 WA A S @
(1) 59 A @™ B B B/

(2) 19 JHAM B ©

(3) @™ 7 & & B

(4) sfad) I W Y @ A @ 9

21,”Which Financial Statement Displays the revenues and expenses of a compar
period of time ?

(1) Income Statement (2) Balance Sheet

(3) Cash Flow Statement ~ (4) Statement of Stockholder

BT g favor g9g @1 oafy @ oy te s @ Yo iR &g gefdia axe
(1) ma faaror '(2) et ¥

(3) &4 yarg faavor (4) Tl & faavor

22. What is the main purpose of financial accounting ?
(1) To organize financial information
(2) Provide useful, financial information to outsiders
(3) Keep track of company expenses
(4) All of the above
faxfra oAl @1 g Seed @ g ?

(1) fo<ia STaRt &1 eaRed a3 & oy

(2) amEQ @l & fog wwArh, faxia SEERY e v @ for
(3) BUN B Wd TR FoR @A B oY

(4) SURTET A

23. Which of these is not included as a separate item in the basic accounting equat
(1) Assets '
(2) Revenues
(3) Liabilities
(4) Stock Holder's Equity
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?
(1) wufey
(2) X

(3) <uemy
(4) TIPuRE B 3fdady

24. Which financial statement uses the expanded accounting equation ?

(1) Income Statement (2) Balance Sheet

(3) Cash Flow Statement (4) Statement of Stockholder's Equity

H-a1 faig faaver fvaRa o aiaRe &1 9T HRar & 7

(1) ama faazo (2) deiw e

(3) T R R (4) siemd A 3fREY BT faRer
25. The accrual basis of accounting records revenue when they are :

(1) Earned (2) Collected

(3) Contracted (4) Readily available for use

ST BT SUTSTT MR IORG Al Hdl ®

(1 sffa (2) TwaET

(3) srafEa | (4) IUANT B fIg TR *F Suerer
26. The account format that displays debits, credits, balances and headings :

(1) General Ledger (2) General Journal

(3) Ledger Account (4) T-Account

fre, HRee, 0 R Al WP B BT T TR e e §

(1) |G FRrATan (2) A ST

(3) @& @rar (4) -

27. Asset accounts have what type of balance ?

(1) Debit @) Credit |
(3) Contra (4) All of the Above
PG-EE-2015/(Commerce)/(C) | P.T.O.
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(1) sfee
(3) BT

Q) Bfee
(4) SURIE |l

28. Which account is not a liability account ?

(1) Accounts Payable (2) Accrued Expenses
(3) Cash | (4) Notes Payable
ey & § BiF-A1 QI @ 78§ 2

(1) < @ (2) Suifdta @4

(3) &u (4) <¥ Acd

29. Which account increases equity ?
(1) Expenses (2) Withdrawals

(3) Treasury stock

P @ F 3 g8 o q 7

(1) =3 ) R

(3) oo Kid (4) STE

(4) Revenues

30. A contra asset account has what type of balance ?

(1) Debit (2) Credit

(3) Contra (4) All of the above
we faTd gRwaRY @ @Y 99 AR BT T YER € 2

(1) sfae (2) »fee

(3) I | (4) SR W

31. Capital Budgeting deals with :

(1) Long Term Decisions (2) Short Term Decisions

(3) Both (4) None
5 qifeT &1 fre & & fred dw 8 7
(1) <=1 e+ fof ) e <o fofa

(3) &I | (4) P13 Bl
PG-EE-2015/(Commerce)/(C) :




32. Dupont analysis deals with :

(1) Analysis of Current Assets (2) Analysis of Profits

3) C-alpital Budgeting (4) Analysis of Fixed Assets
Dupont fazeryor &1 fm1 # 4 fee a7

(1) e gReFufral o1 fagersor (2) T @1 fageor

(3) oh qoe @) sra Ry &1 Rz

33. Balance sheet audit is also known as:
(1) Continuous Audit : (2) Annual Audit
(3) Internal Audit ' (4) Financial Audit

Joig e orar ge & 39 wY ¥ ) §E1 ST §
(1) wad 3ifee ) affs @r wden
(3) aiiaR® orar wen C (a) faeha o o

34. Audit Programme is prepared by : _
(1) The Auditor (2) The Client

(3) The Audit Assistant (4) The Auditor and his Audit Assistant
ET G BRIBH .. D GRT AR fHAT STAT B |

(1) o@r WRe® - (2) FEe

(3) &iffde HEr® (4) oG WeTd AR SHST oGl TRIeT FEID

35. The main object of the audit is :
(1) Expression of Opinion
(2) Detection aﬁd Prevention of fraud and error
(3) Both (1) and (2) |

(4) Depends on the type of audit

PG-EE-2015/(Commerce)/(C) P.T.O.
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36.

37.

38.

RGN T BT G IR &

(1) Y@ o sfegfaa | (2) vEaT 3R drEn ok e &
(3) =TI (1) MR (2) : (4) o/Er WRET B YR W ik

Secretarial audit is conducted by :
(1) Chartered Accountant in Practice (2) Lawyer

(3) Internal Auditor 4) Company Secretary in Practic

Aty orar wer ERT MM B STy 2 |

(1) 3™ % 91es uaraee (2) TEHA

(3) endRe oar wers (4) =i ¥ By afg

Time, extent and ............. of audit depend upon effectiveness of internal con
(1) Nature (2) Periodicity

(3) Relevance (4) Format

<A faeaR SR ot wQem & .. anidRe Rrgser @ gaeierar w o
(1) upfa (2) <rr

(3) urfrepar (4) U™y

Which type of audit is conducted by the internal audit staff :

(1) Cost Audit

(2) Secretarial Audit

(3) Internal Audit

(4) Tax Audit :
mﬁmé@wwmmﬁmmﬁwwmanﬁ%aﬁaﬁﬁ%?
(1) oIFTa orEm uer

(2) wfd™ orar o

(3) SraR® orar uer

(4) < Sfffee
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39.

40.

41.

A statutory auditor has a.right of access at all times to :
(1) Books and accounts of a company

(2) Books, accounts and documents of the company
(3) Books, accounts and vouchers of the company

(4) Notices and documents of the company

@WW@%%W?W%WWW%;

(1) TR R TH HUN & @il
(2) YxId, WAt MR BUA B SRS
(3) =TS, Wiai 3R FUA B AR
(4) @A SR HU B SRITASH

One of the following is not an advantage of audit :
(1) Tt provides satisfaction for owner

(2) Ithelps in getting loans |

(3) It reduces cost burden

(4) Tt detects errors and frauds

ey & TP oRa YL BT Udh HIIGT T8 ¢
(1) 78 "fre & fIy Wi e #=al §

(2) TE U I B H AGE Bl ©

(3) TE NI BT A% HH PR <l ©

(@) TE Ffeai oiR SErRY &1 A I

11

For a work order, standard time and time taken are 20 hours and 15 hours
respectively Time rate being Rs. 2 per hour, total wages payable under Rowan

Premium Plan will be ......ccccovvvevnne

(1) 40 ) 37-50 3) 35

(4) None of these

et BT @ fory Wi TR qe foraT AT WHA HAS 20 e do7 15 6 § AU R 2

SR fY HeT & Rowan I < & @R & Holgel 8T
(1) 40 (2) 37-50 (3) 35

PG-EE-2015/(Commerce)/(C)
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42. The budget that is prepared first of all is ............

(1) cash budget (2) master budget
(3) budget for the key factor (4) sales budget
(1) FPHaY qoic (2) "ReER qole
(3) #EwWYOl HRP B Ay qore (4) fash gore
43. Economic Batch Quantity depends on and costs-
(1) material, labour (2) set-up costs, carrying
(3) transportation, carrying (4) warehousing, labour
SMAD T HAT ..o AR ... cOSEs TR PR TR0 2
(1) ™Y, s . (2) We-=I9 HT R, carrying
(3) transportation, carrying (4) HSRVI, 54
44. The ----- costing is applied when a quantity of similar and identical produ
manufactured together as one job
(1) job (2) batch
(3) operation (4) output
STd Th WHM IR BT Uh S b wY § Sered fbar o 2 ar 99 a6y
BIRET YA # oS SIrely & 2
(1) Job (2) batch
(3) operation (4) output
45. The loss incurred on an incomplete contract is transferred to ------account :
(1) costing profit and loss account (2) profit and loss account
(3) trading account (4) deferred to next year
UP IR I TR loss frdt @i # wermiaRe fvar wmar & 2
(1) &rTa am9-g1fY @ran (2 amM-EIfY @rEr
3) =R @m (4) 3rTel Wt & forg @ far €
46. Primary packing is an item of ------ 01
(1) selling overheads : (2) prime cost
(3) distribution overheads ~ (4) factory overheads
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R Afdhe frdasT srgen € ?
(1) 9= (selling) 3ieReSH (2) o @Td
(3) faaxor sfarEsH (4) PREF HaRESH
47. When factory overhead control account has an ending debit balance, factory overhead
was------ '
(1) over applied ~ (2) under applied.
(3) both (1) & (2) (4) none of these
G HREFT AARES Bl ABISE BT WA BT AT Joiv 81, O Hhag aves o :
(1) over applied (2) under applied

(3) both (1) & (2) ' (4) none of these

48. Basis of apportionment of stores service expenses is --------

(1) value of materials consumed (2) units of material consumed
(3) products produced (4) none of these

GHH /AT D Td BT GATSH B AER ... g

(1) value of rﬁaterials consumed (2) units of material consumed
(3) products produced (4) none of these

49. Residential status to be determined for :

(1) Previous year (2) Assessment year
(3) Accouﬁting year (4) None of the above
smarir Rerfy @1 Fefor e af @ Ry far omar & 2
(1) Rrosr wme (2) Frfkor o
(3) oEr 99 _ - (4) B8 TE

50. Income deemed to accrue or arise in India is taxable in case of :
(1) Residentonly, (2) Both ordinarily resident and NOR
(3) Non-resident | (4) All the assesses
ﬁmsﬁmﬁaccruemarisegéﬂﬁﬁﬁﬁﬁiﬂﬁmﬁ%qéﬁ%ﬂﬁ%? _
(1) Resident only (2) Both ordinarily resident and NOR
(3) Non-resident (4) All the assesses

PG-EE-2015/(Commerce)/(C) - SPLT O
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51. The name of the company can be changed by ...
(1) An ordinary resolution
(2) A special resolution
(3) The approval of the central government
(4) A special resolution and the approval of the central government
FTH BT A, oo § AT S ABAT T |
(1) TP ARV HHed
(2) fadm HoHe |
(3) P WHR BT AR A
(4) R Haed R B WER B AR |

52. When a company said to have been registered ?
(1) When it files the memorandum of association with the registrar of compan
(2) When it gets the certificate of incorporation .
(3) When it gets the certificate of commencement of business

(4) When it actually starts its business

Ue BUH BT TADYT HY F A § ?

(1) v T RRER i FES B IR AN oift THIRME ST @A Tl €
(2) STa 3 STERUREA @1 Afefhae e S @

(3) msﬁmmsjﬁaﬂﬁmvﬁwmm%‘

(4) Sig TE IRET ¥ U AT YO PN T

53. The ............. defines the scope of a company's activities.
(1) Prospectus (2) Statutory Declaration
(3) Memorandum of Association (4) Articles of Association

(1) dideeH (2) Jenfyes won
(3) AHARSH i THIRIYEE (4) TReNm B oA

PG-EE-2015/(Commerce)/(C)
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54.

55.

56.

15

Which of the following companies must file a statement in lieu of prospectus ?
(1) A private limited company

(2) A cooperative society

(3) A company that has issued a prospectus

(4) A public company that has not issued a prospectus

e # @ FE B GCE B E TF RTHT Wigd P & 7

(1) T@ el T

(2) TP FEPNI HeAT

(3) TH FU R dreEed SN e &

(4) v Ao FO R HRiTed o T fea

The doctrine of indoor management Means .................

(1) strangers dealing with the company may assume that everything is done
regularly
(2) strangers must enquire into the regularity of proceedings

(3) strangers can afford to be negligent as regularity is the company's responsibility

(4) constructive notice

TR yhu @ Rigrd @1 el 8 :

(1) mﬁmwmﬁmmﬁwﬁﬁwﬁwaﬁmww%

) mﬁwwm@mﬁmﬁmﬂ-aﬂaﬁaﬁﬁﬁm@%ww
g a1 el

(3) WWWWW%E&%W@%WWMH%W%

(4) TS ANeH

The Reserve Bank of India is an example of a _

(1) registered company (2) statutory compaﬁy
(3) chartered company (4) unlimited company
Rerd o it gfear e SaevT & 7 :

(1) dofipa o (2) wifaferes Ho

(3) @S BUAI (4) rNfaa @

PG-EE-2015/(Commerce)/(C) . P.T.O.
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57.

58.

59.

60.

A decrease in the growth rate of the money supply is likely followed by :

(1) A recession - (2) Arecovery
(3) A boom | (4) Inflation
@m@ﬁqﬁﬂﬁﬁﬁwmm?

(1) TP F | @) & Raad
(3) st <ol (4) FEEBI
Money appears to have a major influence on:

(1) Inflation ' (2) The Business Cycle
(3) Interest Rates (4) All of the above
e for W @ fbd ™ O T STl 8 7 |
(1) B (2) SUR TH

(3) & (4)-@?‘@@%

Currency includes :

(1) Paper money and coins

(2) Paper money, coins and cheques

(3) Paper money and cheques

(4) Paper money, coins, cheques and savings deposits
g 3 el ® - '
(1) BTt T AR foad

(@) Fr R, fad o

(3) TS Ud AR TP

(4) SrTer 49, Ryad, @ AR A ST

Credit cards are :

(1) Not money butaway of transferring money
(2) Money since they actas medium of exchange
(3) A store of value

(4) Identical to debit cards in every way

PG-EE-ZOlSI(Commerce)l(C)
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BT TS & ©
(1) 47 & &, e A0 B ERIRET BT TH AT
(2) R & T @ w0 § oR B S BRI A & @
(3) [ 1 oA
(4) &R RE ¥ e TS & A

Income which accrue outside India from a business controlled from India is taxable in
case of :

(1) Resident only (2) Not ordinarily resident only
(3) Both ordinarily resident and NOR (4) Non-resident

m@ﬁﬁﬁawwﬁw%wwﬁaaﬁmﬁﬁeﬁm%%ﬁm
2:

(1) Resident only (2) Not ordinarily resident only
(3) Both ordinarily resident and NOR : (4) Non-resident

The partial integration of agricultural income, is done to compute tax on :
(1) Agricultural income
(2) non agricultural income

(3) Both agricultural and non agricultural income

S M FT MRS THIBI........c. R SFg B T FRA B g fear S §

(2) IR o ™
(3) aFl FfY 3R R PV I
(4) SWIET Fl

In some cases assessment year and previous year can be same financial year.

(1) True . (2) False

 (3) Uncertain ' (4) None of the above

o Amal § PRk af ik s wa & i af & e &)
(1) True (2) False
(3) Uncér_tain ' (4) None of the above

>G-EE-2015/(Commerce)/(C) ' P.T.O.
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64.

65.

66.

Agricultural income is exempt provided the:

(1) Land is situated in India

(2) Land is situated in any rural area in India

(3) Land is situated whether in India or outside India

(4) None of the above
P M R g g B T qud @

(1) 9 R ¥ Rerg &

(2) 9 9IRGB el o wior & F R @
(3) I RT ¥ 1 AR uRT B AR Rug &
(4) g 7

R, a chartered accountant is employed with R Ltd., as an internal auditor and requests
the employer to call the remuneration as internal audit fee. R shall be chargeable to
tax for such fee under the head.

(1) Income from salaries
(2) Profit and gains from Business and Profession

(3) Income from other sources

m,mﬂﬁéwm%?wmﬁmé@ruﬁ%zﬁmﬁm%ﬁé@%wm%sﬁv
wﬁ%%@mw%mﬁmﬁmmmﬁﬁmﬁ@wmmw%
sﬂiﬁ%‘?‘m'ﬁrﬁm%@ﬁ%méﬂs‘m?

(1) 99 ¥ 3y

(2) < 3R SR Sl e e

(3) 3= Al A Ay

4) 13 7

A has two house properties. Both are self-occupied. The annual value of :
(1) Both house shall be nil (2) One house shall be nil

(3) No house shall be nil (4) Both houses are taxable
Azﬁwaﬁaﬂ?%“aﬁﬁAmﬁw%‘Aiﬁﬁ?ﬁwaﬁﬁwﬂﬂa‘nﬁ
(1) Both house shall be nil (2) One house shall be nil’

(3) No house shall be nil (4) Both houses are taxable

PG-EE-ZOI5/(Commerce)/(C)
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68.

69.

70.

i

The 12th Plan Period is from :

(1) 2010-15 (2) 2011-16
(3) 2012-17 (4) 2013-18
1281 ST Safer @

(1) 2010-15 (2) 2011-16
(3) 2012-17 (4) 2013-18

Who introduced cooperative society in India ?

(1) Lord Curzon (2) Lord Wavell
(3) Lord Rippon (4) Lord Cornwallis
ARG H WESHN Afffa 3 gesna A @ ?

(1) Lord Curzon (2) Lord Wavell

(3) Lord Rippon (4) Lord Cornwallis

The former name of State Bank of India was :

(1) Central Bank of India (2) United Bank of India

(3) Imperial Bank of India (4) People’s Bank of India

ARG e % FT qd AW o

(1) Central Bank of India (2) United Bank of India
~(3) Imperial Bank of India (4) People's Bank of India

19

The Board of Industrial and Financial Reconstruction (BIFR) came into existence in :

(1) 1984 (2) 1986 (3) 1987 (4) 1989
e vd fxia gFieT 48 (@ o v% oIR)....... ¥ aiRaa § amar)
(1) 1984 (2) 1986 (3) 1987 - (4) 1989

Deficit financing means that the government borrows money from the :

(1) RBI (2) local bodies
(3) big businessmen (4) IMF

e 3 o gaven § wReR fhey I SuR o £ ?

(1) e Red d& ) o et
(3) T erawfyl (4) smETHYE

PG-EE-2015/(Commerce)/(C)
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72.

73.

74.

75.

76.

Which state stands first in the length of roads in the country ?

(1) U.P. ) M.P.

(3) Maharashtra (4) Rajasthan
29T ¥ D! B oaTg § Ugel I BIH-4T ] ?

(1) U.P. (2) M.P.

(3) Maharashtra (4) Rajasthan

Gilt-edged market means :
(1) bullion market (2) market of government securities

(3) market of guns (4) market of pure metals

firee 9R (gilt-edged) IR HT 7eid &

(1) ERIBT TR (2) WERI ufHfodl & IR
(3) dg@I @ dIIR (4) g ogelt & TR
Decimal coinage was introduced in India in the year :

(1) 1850 (2) 1957 (3) 1955 (4) 1960
e Ryt aRa § 6w arer # o fear mar o ?

(1) 1850 (2) 1957 (3) 1955 (4) 1960

Time value of money focuses on :

(1) Accounting Net Income (2) EPS _
(3) Cash Flow S, (4) Current Earnings
T BT 9T I fFa W BIHd Bl & 7

(1) <ian gg I (2) $dw

(3) bl waTE (4) acHE SIS

All of the following statements regarding budgeting is true e_xcépt g

(1) Budgeting helps managers determine the resources needed to meet their goal
and objectives. :

(2) Budgeting is a key ingredient in good decision-making.

(3) Budgeting is a book-keeping task

(4) The focus of budgeting is planning

PG-EE-2015/(Commerce)/(C)
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(1) Budgeting helps managers determine the resources needed to meet their goals
and objectives.

(2) Budgeting is a key ingredient in good decision-making. |
(3) Budgeting is a book-keeping task
(4) The focus of budgeting is planning

77. You are given the cost and volume information below:

Volume Cost

1 Unit Rs. 10
10 Units Rs. 100
100 Units Rs. 1000

What type of cost is given ?
(1) Fixed Cost

(2) Variable Cost

(3) Mixed Cost

(4) None of the above
TP A AT IR =T B aR H WFHRN o 9l § -

Volume Cost

1 Unit Rs. 10

10 Units Rs. 100

100 Units Rs. 1000

Y fFre aRE B AT © ? '

(1) faf¥aa arma (2) gRad+a arTa
(3) fafdra amma - (4) =79 & BIg &

78. In the inventory turnover calculations what is taken in the numerator ?
(1) Sales Y (2) Cost of Goods Sold
(3) Opening Stock _ (4) Closing Stock
79 turnover TUFT ¥ numerator § T T WA ® ?

(1) faspr | (2) ¥ TT HA B BEA
(3) RfYF wTid (4) Ret F=m g3 A1

PG-EE-2015/ (Commerce)/(C) P.T.O.
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79.

80.

81.

82.

83.

Which of the following helps analyzing return to equity shareholders ?

(1) Return on Assets | (2) Earning Per Share

(3) Net Profit Ratio (4) Return on Investment

Fre % 4 B return to R MR aRaT B fary fvower § waq P & ?
(1) wuRy w gy (2) 9 IR HarE

(3) g& d™ Jura (4) a9 W ufdwa

Which of the following is not considered while preparing cash budget ?
(1) Accrual Principle (2) Difference in Capital and Revenue Iter
(3) Conservation Principle (4) All of the above

B goie TAR BRA 9RO H Y PiH-ar 7@ e o ® 2

(1) drg9ad Rrgr (2) Toi 3R IoRT HE H 3R
(3) wver Rygra (4) SURIET T

Which authority is acquired as a result of a position in organisation ?
(1) Parent (2) Rational (Legal)

(3) Charismatic (4) Traditional authority
PI-T AABR FTeT H ta Rfy & gRomm & w9 & yra fbar wem & ?
(1) Hrerr-foar (2) aford (eirTe)

(3) ®Remrg | (4) TRIRF FFR

Which theory represents lazy and docile employees ?

(1) Theory-X o s (2) Theory-Y

(3) Theory—Z (4) Maslow Theory

BT RIET el &R faw ad=nRal &1 uRiffe owar & ?

(1) < go (2) =y arg |

(3) IR S (4) Her ey

Which of the following is an example of a convenience product ?

(1) Petrol : (2) Motorcycle

(3) Bicycle (4) Athletic Shoes

PG-EE-2015/(Commerce)/(C)
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(1) ugrd (2) Hrex AEfha
(3) Tz (4) vorcifed S

84. Anything that can be offered to a market for acquisition purpose and buyer can hold
it and it fulfills his want is : '

(1) Product (2) Satisfaction
(3) Demand (4) Need

9 T § R s @ Sewy ok AT @ foIv e aoR A U9 fhar W € 9o o
8D D1 3BT BT R BT 8

(1) Sare (2) |amw
(3) T (4) STHRG

85. Which of the following is an answer of the question "what should our business be ?"
(1) Objective Statement (2) Vision Statement
(3) Mission Statement (4) Strategic Plan

fr1 @ PI-a1 39 WaTel F1 U@ oA § CEAR AR 9 S Ay >
(1) e g9+ (2) e @1 faaror
(3) fer gacen | o (4) v e
86. Maslow's Need Hierarchy includes all these except :
~(1) Physiological Needs (2) Safety Needs
(3) Need Recognition (4) Self Actualization
Al UETghH H 39 @1 Bled] Wd A B ¢
(1) sRIR® ST¥eva (2) gR&m B TR
(3) STgTIHAT YEATH (4) STcAfra

87. Early theories about how individual make decisions were based on the concept of :
(1) Utilitarian Philosophy (2) Action Man
(3) Economic Man (4) Rational Man

PG-EE-2015/(Commerce)/(C) _ P.T.O.
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mﬁﬁﬁﬁwm%mmﬁmﬁqﬁﬁﬁﬁﬁﬁmmm%?
(1) STAfamEE <99 RCHERE|
(3) enfdia #9 | (4) THETT IJMEHT

88. A major problem with a task force type of management is :
(1) There is no logical basis for task force information
(2) Its status is too inflexible
(3) Accountability
(4) Lack of planning
TP TG BRI GaEd & 1 U g1 WAl ®
(1) TRD B B TSGR S g B AMfdbd AER el ©
(2) ! Rafy +ft v ®
(3) STETE
(4) Prirom @ T

89. Communication begins with :
(1) Encoding
(2) Decoding
(3) Channel Selection
(4) Idea Origination
IR ¥ BT B
(1) T
(2) @i
(3) A9 TIA

(4) fa=R =gafd

90. Functional managers are responsible :
(1) For a single area of activity
(2) To the upper level of management and staff
(3) For complex organizational sub - units

(4) For obtaining copyrights and patents for newly developed processes an
equipments '
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(1) wfefafer & va & & @ forg

(2) wEe ok HHERE & ST wWR B oy

(3) e WToToS $U — gPRA B Y

(4) WWW@WW@WWWWWW%W

91. Which of the following will not be included in the money supply ?

(1) Gold Coins (2) Checking Account Deposits
(3) Currency (4) None of the above

fre o Q PIE-|1 ga1 @ oy # wiier 7@t fHar s Y

1) ¥F & Rigd (2) @ ST

(3) g1 (4) 3T | B1g W TE

92. The difference between money and income is that :
(1) Money is a flow and income is a stock
(2) Money is a stock and income is a flow
(3) There is no difference

(4) None of the above
71 ok g @ dra oFR ' B

(1) &1 T waTe & 3R 1 Th stock &
(2) HET TP stock ¥ 3R AT Y& TATE €
(3) @IS IR T &

(4) 3 | P13 A TE

g3, Aloan due for repayment in 20 months time has been included as a current liability.
" What will be the effect when this is corrected ?

(1) Increase in net assets (2) Increase in current assets

(3) No effect on net current assets (4) Reduce net current assets

wmﬁmﬂﬂmﬁzﬁrwzoqﬁﬁm%ﬂﬂwmﬁﬁﬁﬁwﬁamﬁmw%l
TN WA T W GAGT YT FqT B 7 k

(1) gg dufr # gfg (2) adAE HuRky § gfg
(3) T& TAAM FURT W DS TG el (4) g€ Ao aREafRel § o
PG-EE-2015/(Commerce)/(C) P.T.O.
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94. What is the effect on a company's balance sheet of issuing bonus shares?

(1) The bank balance will be increased
(2) The long term liabilities will be increased
(3) The reserves will be reduced

(4) The share capital will be reduced .
meaﬂﬁaﬁwmaﬁwmwmw%?

(1) 9% Joi 9g e

(2) <@ ey & SRl ¥ afy @ s
(3) Reserves & & g

@) WR G B9 & ey

95. Liability for bill discounted is a .....

(1) Current liability (2) Contingent liability
(3) Fixed liability (4) None of the above
f@a discounted & fevafRe s e |

(1) Current g1 (2) Contingent gifR¥req
(3) e TR - 4) 3 9 BIE N TE

96. An old, machine was purchased for Rs. 60,000. It was repaired for Rs. 5,000 and Rs

5,000 paid on its installation. Machinery repairs A /c will be debited by ----
(1) Rs 10,000 (2) Rs 5,000
(3) Rs 15,000 (4) None of the above

U REN 70 160,000 S0 § @EaT o7 | 3 A @@ 5000 94 @@ g7 | 5000 T
SHDT WA TR T 2 | 7ol o) e account Sfde & ST

(1) 10,000 393 (2) 5000 39y
(3) 15,000 ¥ (4) 30 A BIg o T

PG-EE-2015/(Commerce)/ Q)
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97. X Ltd. purchased the business of Y Ltd. for Rs. 9,00,000 payable in fully paid shares of
100 each at a premium of 25%. The number of shares to be issued by X Ltd. to settle
the purchase consideration will be w......c..cco... '

(1) 7000 (2) 5000

(3) 7200 | (4) None of the above

Y Ltd Y Y Ltd & <maR @1 9,00,000 B ¥ wéar fern R g 100 ®9F I &
qa‘éaﬁﬁta'wW%%ﬂ’ﬁwwﬁﬁmm%.XLmﬁwmzﬁm%ﬁmﬂ

HRT TR ?
(1) 7000 (2) 5000
(3) 7200 4) 38 & Brg A El

98. The following information pertains to X Ltd. : (1) Equity share capital called up Rs.
10,00,000; (2) Calls in arrear Rs. 50,000; (3) Calls in advance Rs. 20,000; (4) Proposed
dividend 10%. The amount of proposed dividend payable is ................

(1) 95,000
(2) 90,000
(3) 98,000
(4) 1,00,000

frer ST X Rt W |dRa # (1) called up 3fFE AR gt w9 10,00,000; (2)
T ST 50,000; (3) A B BUY 20,000; (4) TRAIT @rAIE 10% | TR AT @

(1) 95,000
(2) 90,000
(3) 98,000
(4) 1,00,000
99. A company offers to the public 10,000 shares for subscription. The company receives

applicatior'l for 12,000 shares. If the shares are allotted on pro-rata basis, then
applicants for 12,000 shares are to be allotted as :

(1) 4 shares for every 5 shares applied.
(2) 2 shares for every 3 shares applied.
(3) 5-shares for every 6 shares applied.
4) 3 shares for every 4 shares applied.

PG-EE-2015/(Commerce)/(C) P.T.O.
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100.

U BU uferd @Y 10000 T MR FRAT & BUA @I 12000 I & forg qedra
frerdt ¥ afy rd @1 aEed pro-rata MR W fEFAT SAT A @ 12000 T
TP R Aeed fFd UdR B ?

(1) 4 shares for every 5 shares applied.
(2) 2 shares for every 3 shares applied.
(3) 5 shares for every 6 shares applied.
(4) 3 shares for every 4 shares applied.

While finalizing the current year's profit, the company realized that there was
error in the valuation of closing stock of the previous year. In the previous y
closing stock was valued more by Rs.50,000. As a result :

(1) Previous year's profit is overstated and current year's profit is also overstated
(2) Previous yeaf‘s profit is understated and current year's profit is overstated
(3) Previous year's profit is understated and current year's profit is also understat

(4) Previous year's profit is overstated and current year's profit is understated

e 9 @ @t BT iR BU T4 WY FUA BT A @A gan B el a¥ oifc e
@ T ¥ HB I ® T v af TR wiE B W 50000 ¥ AR deY
e | dfroras |

(1) frodr af @& o oo § &R e af & o o sifeRfor €
(2) froer 98 @& @™ understated & 3R AT I¥ & T AFRRE &
(3) frws @ & @™ understated & 3R aTe] 9§ & @M N understated &
(4) froer af & o afaRiira € ok a1e 9§ & @ understated &
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1. Income which accrue outside India from a business controlled from India is taxable in
case of :

(1) Resident only (2) Not ordinarily resident only
(3) Both ordinarily resident and NOR (4) Non-resident |

ﬁgﬁﬁ?ﬁﬁwwﬁw%wwﬁmaﬁaﬁmﬂmﬁm?ﬁﬂmﬁﬁm

(1) Resident only (2) Not ordinarily resident only
(3) Both ordinarily resident and NOR (4) Non-resident

2. The partial integration of agricultural income, is done to compute tax on :
(1) Agricultural income
(2) non agricultural income
(3) Both agricultural and non agricultural income
(4) All of the above

(1) P o
(2) R P 3
(3) = PR R R FY ez
(4) SRIET T
3. Insome cases assessment year and previous year can be same financial year.
(1) True (2) False
(3) Uncertain (4) None of the above
o AE § Prier af ok Rwer e s R 9 8 o £
(1) True (2) False
(3) Uncertain (4) None of the above

4. Agricultural income is exempt provided the: |
(1) Land is situated in India
(2) Land is situated in any rural area in India
(3) Land is situated whether in India or outside India
(4) None of the above
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ﬁmwwgmﬁnﬁ%wﬁaﬁ:
(1) 4ft e # Rera &

) @mﬂ%ﬁﬂ%‘nﬁmﬁmaﬁaﬁﬁw%
(3) {ﬁwﬁmaﬁ‘wzﬁwﬁw%
(4) ®1g TR

R, a chartered accountant is employed with R Ltd., as an internal auditor and requests
the employer to call the remuneration as internal audit fee. R shall be chargeable to
tax for such fee under the head.

(1) Income from salaries
(2) Profit and gains from Business and Profession
(3) Income from other sources.

(4) None of the above

m,wmﬁéwﬁtwaﬁﬁzﬁé@qﬁw%mﬁ*
mﬁm?ﬂmqﬁmweﬁwﬁmﬁmwmﬁa}ﬁ‘mﬁmﬂﬁmmﬁ
WW’W'ﬁ%%@ﬁéﬁéﬂM?

(1) aa= & 3
() o 3R @R iR U | WA
(3) g il W I

(4) @18 TR

A has two house properties. Both are self-occupied. The annual value of :
(1) Both house shall be nil (2) One house shall be nil

(3) No house shall be nil (4) Both houses are taxable
Aa%qmammﬂ%aﬁﬁAmé‘[w%Azﬁwaﬁﬁwm@nﬁ:
(1) Both house shall be nil (2) One house shall be nil

(3) No house shall be nil (4) Both houses are taxable

The 12th Plan Period is from:

(1) 2010-15 , (2) 2011-16
(3) 2012-17 (4) 2013-18
124} AreTT arafer g

(1) 2010-15 (2) 2011-16
(3) 2012-17 (4) 2013-18
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8. Who introduced cooperative society in India ?

(1) Lord Curzon (2) Lord Wavell

(3) Lord Rippon (4) Lord Cornwallis
ARG H AEprN AR A goard feam @ ?

(1) Lord Curzon (2) Lord Wavell

(3) Lord Rippon (4) Lord Cornwallis

9. The former name of State Bank of India was :

(1) Central Bank of India (2) United Bank of India
(3) Imperial Bank of India (4) People's Bank of India
IR We dF &1 qd 99 o

(1) Central Bank of India (2) United Bank of India
(3) Imperial Bank of India (4) People's Bank of India

10. The Board of Industrial and Financial Reconstruction (BIFR) came into existence in :

(1) 1984 (2) 1986
(3) 1987 (4) 1989
AEE v fef gfes O (@ o 1% o). A T H S
(1) 1984 (2) 1986
(3) 1987 (4) 1989

11.  Which of the following will not be included in the money supply ?

(1) Gold Coins (2) Checking Account Deposits
(3) Currency (4) None of the above

PRt % W @i-ar a1 B ol # e 78 fear e 2

(1) 99 @ Ry (2) @raT ST

(3) e 4) 31 J P N T

12, The difference between money and income is that :
(1) Money is a flow and income is a stock
(2) Money is a stock and income is a flow
(3) There is no difference
(4) None of the above
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13.

14.

15.

71 R oMY @ drE SR UE ACE

(1) 951 U& 9aT8 ¥ 3R o TF stock ®

(2) &1 UH stock & 3R o TH WATE ¥

(3) B IR T T

(4) =T & BrE N T

A loan due for repayment in 20 months time has been included as a current liability.
What will be the effect when this is corrected ?

(1) Increase in net assets (2) Increase in current assets

(3) No effect onnet current assets (4) Reduce net current assets

waﬁﬁmﬁmmwmnﬁﬁm%aﬁwaﬁaﬁﬁw&ammwm
=3 W8 BT W GAGT G F4EW 7 |

(1) & Ry ¥ 9fE (2) o W o
3) g@aﬁﬂﬁ@%ﬁﬁﬂéwﬁ @) g Ao aReaRE § T

What is the effect on a company's balance sheet of issuing bonus shares ?
(1) The bank balance will be increased

(2) The long term 1iabilitie3. will be increased

(3) The reserves will be reduced

(4) The share capital will be reduced
meaﬂﬁfﬁgﬁﬁmaﬁaﬁﬂﬁﬂtwmw%?

(1) ¥ S 98 ST

) ) oy @ SaRal ¥ gfg @ e

(3) Reserves @d B ST

(4) JeR Yol P B S

Liability for bill discounted is a .....

(1) Current liability (2) Contingent liabil.ity
(3) Fixed liability (4) None of the above
et discounted @& feT TIAE TP B covererrnn '

(1) Current g1{acd (2) Contingentaﬁk’d
@) fravs i@ : @) T § B W T
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16. An old, machine was purchased for Rs. 60,000. It was repaired for Rs. 5,000 and Rs.
5,000 paid on its installation. Machinery repairs A /c will be debited by ----

(1) Rs 10,000 (2) Rs 5,000
(3) Rs 15,000 (4) None of the above

qasmwﬂ:raﬁéo,ooomﬁaﬁawsm%wawsooomaéfw 5000 %9
FHD! TG R YT a7 | 78 &) w=9a account e & WA ..

(1) 10,000 39 . (2) 5000 ¥
(3) 15,000 39 (4) 37H | PE N 98

17. X Ltd. purchased the business of Y Ltd. for Rs. 9,00,000 payable in fully paid shares of
100 each at a premium of 25%. The number of shares to be issued by X Ltd. to settle
the purchase consideration will be .................

(1) 7000 (2) 5000

(3) 7200 (4) None of the above

X Ltd 7 Y Ltd & @R @7 9,00,000 $94 § @it forar Rder giram 100 309 7oq @
qﬁﬁ@wﬁuﬁ%%;ﬁﬁmwﬁmw%‘xudaﬁwama#%nﬁmﬁ%ﬁw

P T ?
(1) 7000 (2) 5000
(3) 7200 (4) TH 9 P O 7E

18. The following information pertains to X Ltd. : (1) Equity share capital called up Rs.
10,00,000; (2) Calls in arrear Rs. 50,000; (3) Calls in advance Rs. 20,000; (4) Proposed
dividend 10%. The amount of proposed dividend payable is ...............

(1) 95,000
(2) 90,000
(3) 98,000
(4) 1,00,000

Fr=1 e X fafies 31 wafra @ ¢ (1) called up 3R 3—R S0 S5 10,00,000; (2)
a-cﬁm;;q; 50,000; (3) 3\ &iet TG 20,000; (4) YT e 10% | SRS SIS a8
SURICC | -

(1) 95,000
(2) 90,000
(3) 98,000
(4) 1,00,000

PG-EE-2015/(Commerce)/(D) | - P.T.O.
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19. A company offers to the public 10,000 shares for subscription. The company receives
application for 12,000 shares. If the shares are allotted on pro-rata basis, then
applicants for 12,000 shares are to be allotted as :

(1) 4 shares for every 5 shares applied.
(2) 2 shares for every 3 shares applied.
(3) 5 shares for every 6 shares applied.
(4) 3 shares for every 4 shares applied.

wmmaﬁmoomﬁmmazﬁﬁaﬁmmm%mw
ﬁ?«rc‘i’r%‘waﬁ@mﬁmaﬂdﬁpro-rataamq?ﬁmm?f?hlzoooﬁuﬁaﬁ
Q‘Eﬁiﬁ'ﬂﬁﬁmﬁﬂ?m@ﬂﬂ?

(1) 4 shares for every 5 shares applied.
(2) 2 shares for every 3 shares applied.
(3) 5 shares for every 6 shares applied.
(4) 3 shares for every 4 shares applied.

20. While finalizing the current year's profit, the company realized that there was an
error in the valuation of closing stock of the previous year. In the previous year,
closing stock was valued more by Rs.50,000. As a result :

(1) Previous year's profit is overstated and current year's profit is also overstated

(2) Previous year's profit is understated and current year's profit is overstated

(3) Previous year's profit is inderstated and current year's profit is also understated
(4) Previous year's profit is overstated and current year's profit is understated

mﬁ%mﬁﬁeﬁﬂwéﬁmzﬁﬁﬁﬁmgmaﬁﬁ@ﬁaﬁmwﬁm
%Wﬁagﬁ:ﬁ@%‘fﬁ@ﬁﬁwﬁﬁﬁﬁﬁaﬁmsooooﬁaﬂméﬂm
ISCISEE

(1) Waﬁ%maﬁiﬁm%‘aﬂ?waﬁzﬁwﬁaﬁ?ﬁm%
) fusa af & o™ understated § 3R T T8 & AN arferfora €
(3) fwa ad & & understated ¥ 3R =g 9§ & A A understated &
(4) oo a8 & ™ SRRRYT ¥ ok @ a¥ B <M understated &

21. The name of the company can be changed by ....
(1) An ordinary resolution
(2) A special resolution
(3) The approval of the central government
(4) A special resolution and the approval of the central government

PG-EE-2015/(Commerce)/ (D)




DY BT A, ........... I GGAT ST GpeT 2
(1) U AR Hhed | (2) faoy Hpew @
(3) B IR FT Fopdl | (4) faRY Hoey ok B WeR &) H) 9

22. When a company said to have been registered ?
(1) When it files the memorandum of association with the registrar of companies
(2) When it gets the certificate of Incorporation
(3) When it gets the certificate of commencement of business
(4) When it actually starts its business |
U@ HUAI BT TSR F9 F ARG § ? '
(1) S99 I8 R 3l FS & T AR i TRIRITS 7 e Sdt &
(2) W9 3 FABRUNIE &1 Alfde e orar &
(3) V9 3H FAAT Y& B BT ASfbde fer oirar &
‘(4) SId g€ IRGT H AT I E B! @

23. The.............. defines the scope of a company's activities.
(1) Prospectus (2) Statutory Declaration
(3) Memorandum of Association (4) Articles of Association
(1) drUFed (2) Fnfys amon
(3) #ARSH it wAfeE (4) R @ o

24.  Which of the following companies must file a statement in lieu of prospectus ?
(1) A private limited company
(2) A cooperative society
(3) A company that has issued a prospectus
(4) A public company that has not issued a prospectus
=1 & & @0 aw ke @1 s te Rede wred awd § 2
(1) & st so
(2) TP HEHRT TReqT
(3) P BuAl RS uiaey oy far @
(4) Tm wdefE due e dieed R T8 R
PG-EE-2015/(Commerce)/(D) P.T.O.
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25. The doctrine of indoor management MeANS ......cocereeee:

(1) strangers dealing with the company may assume that everything is done
regularly

(2) strangérs must enquire into the regularity of proceedings
(3) strangers can afford to be negligent as regularity is the company's responsibility

(4) constructive notice

gﬂ’ﬁuﬁﬁ%ﬁa@ﬁmaé%
(1) M%mammvﬁmﬂaﬁﬁmﬁaﬁﬁﬁwwqum%

) zﬁuﬁa%wawawv%amﬁa‘mﬁw-éﬁﬁa%zﬁqﬁﬁﬁm@éﬁﬁwm
HRE

(3) mﬁraﬁwwm%ﬂﬁﬁwwm-a$ﬁmzﬁﬁaﬁﬁmﬁ%
(4)1%1?1?%:&%?1

26. The Reserve Bank of India is an example of 2 _

(1) registered company (2) statutory company
3) chartered company (4) unlimited company
| Rod ¥ sife ger fusT SEE g7
(1) dofiga U (2) @it Sa
(3) aEE FuH (4) srAfE BT

27. A decrease in the growth rate of the money supply is likely followed by :

(1) A recession (2) A recovery
(3) Aboom (4) Inflation
Wa@%ﬁﬁmﬁﬁ@wwm?
(1) T 7@ (2) v& Read
(3) swefa el (4) FETERI
28. Money appears to have a rﬁajor influence on:
(1) Inflation (2) The Business Cycle
(3) Interest Rates (4) All of the above
e e # & R R 3t e < & ?
(1) e (2) ATIR T
3) &N (4) SIRYaE G
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29. Currency includes :
(1) Paper money and coins
(2) Paper money, coins and cheques
(3) Paper money and cheques
(4) Paper money, coins, cheques and savings deposits
(1) &t 19 @R Ry
(2) @S 99, Riad iR U
(3) FFTH U IR TS
(4) &P 99, Ryas, 9% 3R god o

30. Credit cards are :
(1) Not money but a way of transferring money
(2) Money since they act as medium of exchange
(3) A store of value _
(4) Identical to debit cards in every way

Hfee BT 2 - '

(1) 1 181 2, A U & &R BT U Gt

(2) fffrra & wram & w0 § B B B FROT gET A ®
(3) T &1 |y

4) ® TE ¥ Me o1 > T

31. Which authority is acquired as a result of a position in organisation ?

(1) Parent (2) Rational (Legal)
(3) Charismatic (4) Traditional authority
PI-H1 AR T § 1 Refd & aRom & w9 F yre v o & 7
(1) wrer-far () T (efrre)
(3) PR | (4) TRURS sfrHR

32. Which theory represents lazy and docile employees ?
(1) Theory-X (2) Theory-Y

(3) Theory-Z (4) Maslow Theory

PG-EE-2015/(Commerce)/(D) P.T.O.
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33.

34.

35.

36.

(1) Objective Statement

aﬁﬂ-wﬁ#mwmﬂaﬁ?ﬁmaaﬁmﬁﬁmqﬁrﬁr@aw%?

(1) = o (2) o g

(3) o (4) HT A

Which of the following is an example of a convenience product ?
(1) Petrol ' (2) Motorcycle

(3) Bicycle - (4) Athletic Shoes
wqﬁmwwwwﬁwﬁﬁzﬁﬂﬂ-w%?

(1) 5T (@) e Ao

(3) s | | (4) vereife® I

Anything that can be offered to a market for acquisition purpose and buyer can holc
it and it fulfills his wantis:

(1) Product (2) Satisfaction
(3) Demand (4) Need

a#w%‘ﬁﬁaWZEG%waﬁ?z%ﬂTa%mwmﬁ&mﬁmm%mﬁ
ITED B TTHT BT T BIAT 7

(1) I (2) AW
(3) M (4) STIERA

Which of the following is an answer of the question "what should our business be ?"

(2) Vision Statement

(3) Mission Statement (4) Strategic Plan
fre ¥ O BT 9 FATE BT U o 8 EER SR T g afeg 7
(1) Se2g au™ ' (2) @l @7 faaRo
(3) faee gaa (4) Rorfae IS

Maslow's Need Hierarchy includes all these except

(1) Physiological Needs (2) Safety Needs

(3) Need Recognition (4) Self Actualization
A TR g P BISER 6d WA g

(1) TRIR® S (2) GRET Bl SR
(3) ALY HT GEATT (4) AR

I’G-EE-20_15I(Commerce)l (D)




37. Early theories about how individual make decisions were based on the concept of :

38.

39.

PG-EE-2015/(Commerce)/(D)

(1) Utilitarian Philosophy (2) Action Man
(3) Economic Man (4) Rational Man

iy B Fofa Jar & swe uRive Rigr B 3 O v 1 o £ 7
(1) SuMfrarare) gei+= (2) TN 79
(3) 3nfefe 7 (4) TP MM

A major problem with a task force type of management is :
(1) There is no logical basis for task force information

(2) Its status is too inflexible

(3) Accountability

(4) Lack of planning

Uh CSRP BRI G899 B A1 U 937 TR & -

(1) TR BRf B THHR B g B afis smR 78
2) 3@ Rafy ft v 2

(3) SiarEaE

(4) e @) B9

Communication begins with :
(1) Encoding

(2) Decoding

(3) Channel Selection

(4) Idea Origination

(1) T=pIfET

(2) feaifeT

(3) AT T

(@) fI=rR gafa

11
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40. Functional managers are responsible :
(1) For a single area of activity
(2) To the upper level of mahagement and staff
(3) For complex organizational sub - units

(4) For obtaining copyrights and patents for newly developed processes and
equipments .

Pt yeud RTEER €

(1) R & e & ad @ fau

() uﬁaﬂaﬂ?zﬁﬁaﬁa‘i%:ﬁqﬁw%%ﬂ
3) e FTSATEE 9U — gHEAl B o

@ ﬂﬂf&?ﬁ%ﬂgﬁﬂ@ﬁaﬁquﬁﬁmmsﬁvmwm%m

41. Capital Budgeting deals with :

(1) Long Term Decisions (2) Short Term Decisions
(3) Both - (4) None

o gafeT o1 e A 9 forasy T ¥ 7

(1) @t=r < foi ) @ifé =w ol

@ < @ W

42. Dupont analysis deals with :
(1) Analysis of Current Assets (2) Analysis of Profits

(3) Capital Budgeting (4) Analysis of Fixed Assets

DLlpontﬁﬁﬁW?ﬂﬁﬁﬁﬁWW%?
(1)@%@&1% 2) g @1 e
@) it aore | (4)31?1?-{@%@1?11@1@1.

43. _Balance sheet audit is also known as :
(1) Continuous Audit (2) Annual Audit

(3) Internal Audit ' (4) Financial Audit
PG-EE-2015/(Commerce)/(D)




44,

45.

46.

PG-EE-2015/(Commerce)/(D)

aﬁwsﬂemqﬁmﬁwmﬁﬂﬁwmér

(1) waa offfse (2) 9 orar uden

(3) SaR® orar uern : (4) fa=ira orar ge

Audit Programme is prepared by :

(1) The Auditor (2) The Client

(3) The Audit Assistant (4) The Auditor and his Audit Assistant
T T B ... S g1 FAR Rt o 2

(1) orEr aeres ‘ - (2) weTge .

(3) diifse werI® (4) oiEn werd R ST ST e TR S

The main object of the audit s :

(1) Expression of Opinion

(2) Detection and Prevention of fraud and error
(3) Both (1) and (2)

(4) Depends on the type of audit

T IRIETT BT G IR &

(1) ¥R o et

(2) EE SR R iR e @ e

@) =i () 3iv () |

(4) < TE B FHR W PR

Secretarial audit is conducted by :

(1) Chartered Accountant in Practice (2) Lawylér

(3) Internal Auditor (4) Company Secretary in Practice
AT G TR ... ERT STARNT B ST 2|

(1) sram ¥ =S yoprade ) T

(3) sdR® orar yders (4)-3ﬁwﬁﬁ‘fﬁﬂﬁﬂ

13
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47.

48.

49.

Time, extent and ............. of audit depend upon effectiveness of internal control.
(1) Nature (2) Periodicity
(3) Relevance (4) Format
Z1ed FARR 3R OIET T B sy T @ e T R @ 2
(1) wf oW
(3) Wi (4) T

Which type of audit is conducted by the internal audit staff 7

(1) Cost Audit '

(2) Secretarial Audit

(3) Internal Audit

(4) Tax Audit :
aﬁaﬁzﬁa@uﬁmwmﬁmmaﬁa@wﬂmsﬂmﬁaﬁwﬁ%?
(1) @TTa ol ONeT

() e e

(3) oA o wXer

(4) 2aq 3ifse

A statutory auditor has a right of access at all times to:
(1) Books and accounts of a company

(2) Books, accounts and documents of the company
(3) Books, accounts and vouchers of the company

(4) Notices and documents of the company

Wwﬁfﬁ?ﬁé@uﬂ%%ﬁwamaﬁmﬁmmm%:
(1) Waﬁqwmﬁra‘:@ﬁﬁ

2) W@ﬁaﬁqwﬁzﬁmﬁm‘r

(3) qS, @il 3R B F ASH

(4) Waﬂ—emaﬁwﬁvﬁ
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50. One of the following is not an advantage of audit :
(1) Tt provides satisfaction for owner
(2) It helps in getting loans
(3) Itreduces cost burden

(4) It detects errors and frauds

71§ A TP o uen &1 b Braer T8 §
(1) @ #ifersd & forg wgfie ya™ ovar &
(2) ¥E T YT B+ H HEE BRaTl B

(3) ¥E NI BT A1 BH B T &
(4) T8 FfeAT IR A 1 AT T

51. For a work order, standard time and time taken are 20 hours and 15 hours
respectively Time rate being Rs. 2 per hour, total wages payable under Rowan
Rremhiumi Plan will Be-.ocvanunnis,

(1) 40 ' (2) 37-50
(3) 35 (4) None of these

foelt o & forw Ao wwg qor forr T 9w FH 20 B g 15 e £ 99g % 2
7d g Hel ® Rowan fifias @ & oifaR g1 worgd anf:

(1) 40 (2) 37-50
3 35 | (4) T ¥ P
52. The budget that is prepared first of all is .............
(1) cash budget (2) master budget
(3) budget for the key factor (4) sales budget
[ UBS IR fRAr S arefl 9ie o, B
(1) T Fore (2) AN qoie
(3) WE@YUl HRH b foy qoie (4) fasr g
53. Economic Batch Quantity depends on and costs-
(1) material, labour (2) set-up costs, carrying
(3) transportation, carrying (4) warehousing, labour

PG-EE-2015/(Commerce)/(D) P.T.O.
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54.

55.

56.

57.

(1) ar, 5H (2) - H A, carrying

(3) transportation, carrying (4) WSROI, HH

The —-- costing is applied when a quantity of similar and identical products a
manufactured together as one job.
(1) job (2) batch

.(3) operation (4) output

mwwwﬁwwmﬁ%wﬁwmm%fﬁﬁwaﬁ%
ﬁﬁéﬁmfim—s‘wﬁr%? -

(1) Job (2) batch

(3) operation (4) output

The loss incurred on an incomplete contract is transferred to - account :
(1) costing profit and loss account (2) profitand loss account

(3) trading account (4) deferred to next year
wa&ﬁagﬁamlossﬁﬁq@ﬁﬁwwﬁﬁﬁﬁmm%?

(1) ST - (2) w-EI T

3) R @m (4)3@%%%?%%%
Primary packing is an item of -

(1) selling overheads (2) prime cost

(3) distribution overheads (4) factory overheads

qrerf AR e MgeH € 7

(1) <= (selling) STaveEH (2) & AT

(3) o saResH ' (4) FREM ATESH

When factory overhead control account has an ending debit balance, factory over
was-—-- .

(1) over applied (2) under applied

(3) both (1) & (2) (4) none of these
mmmmmwwm@mmawmm o
(1) over applied (2) under applied
(3) both (1) & (2) ~ (4) none of these

PG-EE-2015/ (Commerce)/(D)




58. Basis of apportionment of stores service expenses is --------

(1) value of materials consumed (2) units of material consumed
(3) products produced (4) none of these

(1) value of materials consumed (2) units of material consumed
(3) products produced (4) none of these

59. Residential status to be determined for :

(1) Previous year ' (2) Assessment year
(3) Accounting year (4) None of the above
smardra Refy 1 o R af & forg Rsar wmar & 2
(1) froer wre o 2) feior o
@ e @) @ @
60. Income deemed to accrue or arise in India is taxable in case of :
(1) Resident only (2) Both ordinarily resident and NOR
(3) Non-resident | (4) All the assesses
Wil $76F AT H accrue AT arise §8 A 741 &1, a1 {6 s forg Sovdga 8 ?
(1) Resident only | (2) Both ordinarily resident and NOR
(3) Non—resident (4) All the assesses

61. Deficit financing means that the government borrows money from the :

(1) RBI (2) local bodies
(3) big businessmen (4) IMF
e 3 a9 omEwen § @aR fFad 39 SR odl & ?
(1) “=ar Rerd & (2) W Ao
(3) s wgwfE (4) SmETATH
62. Which state stands first.in the length of roads in the country ?
@) U.p. : (2) M.P.
(3) Maharashtra ; (4) Rajasthan

PG-EE-2015/(Commerce)/(D) P.T.O.
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%&Tﬁwaﬁaﬁmﬁimmaﬁﬂw%‘?
(1) U.P (2) M.P.
(3) Maharashtra (4) Rajasthan

63. Gilt-edged market means :
(1) bullion market (2) market of government securities
(3) market of guns (4) market of pure metals

fitee UR (gilt-edged) SSTR BT AT 2

(1) RIBT TR (2) i wRrfEl @ aeIR
(3) €gdI B IR (4) T& aTgell & FOIR
64. Decimal coinage was introduced in India in the year :
(1) 1850 (2) 195¢
(3) 1955 (4) 1960
Wﬁmﬂmﬁﬁﬁmwﬁwmww?
(1) 1850 (2) 1957
(3) 1955 (4) 1960

65. Time value of money focuses on:

(1) Accounting Net Income (2) EPS

- (3) Cash Flow ' (4) Current Earnings
a1 BT S 7 {5 R Hred Yl g7

(1) < ge 9 (2) $deH

(3) @<l yaTE (4) TeEE ST

86. All of the following statements regarding budgeting is true except :

(1) Budgeting helps managers determine the resources needed to meet their
and objectives.

(2) Budgeting is a key ingredient in good decision-making.
(3) Budgetingisa book-keeping task
(4) The focus of budgeting is planning

PG-EE-2015/ (Commerce)/(D)
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(1) Budgeting helps managers determine the resources needed to meet their goals

and objectives.
(2) Budgeting is a key ingredient in good decision-making.
(3) Budgeting is a book-keeping task
(4) The focus of budgeting is planning

You are given the cost and volume information below:

Volume Cost

1 Unit Rs. 10
10 Units Rs. 100
100 Units Rs. 1000

What type of cost is given ?
(1) Fixed Cost

(2) Variable Cost

(3) Mixed Cost

(4) None of the above
aﬂmﬁrﬁaﬁmaﬁ?w?»aﬁﬁaw&mﬁ%

Volume Cost

1 Unit Rs. 10

10 Units Rs. 100

100 Units . Rs. 1000

Y fog ovE @ anTd ® ?

(1) f~f¥ea arma (2) uRad+ra arTd
3) fafr s (4) T & BIE T

In the inventory turnover calculations what is taken in the numerator ?

(1) Sales (2) Cost of Goods Sold
(3) Opening Stock (4) Closing Stock
gl turnover TUHT ¥ numerator ¥ T foram Srar & 7

(1) fam (2) 9 Y AT B BHT
(3) IRfAD ik (4) 3RaS T g AT

PG-EE-2015/(Commerce)/(D)
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69.

70.

71.

2.

73.

Which of the following helps analyzing return to equity shareholders ?

(1) Return on Assets (2) Earning Per Share

(3) Net Profit Ratio (4) Return on Investment
ﬁﬁﬁﬁﬁ?retutntosﬁﬂﬁmﬂﬂiﬁﬁmﬁﬁﬁwﬁﬂﬁﬁmﬁ?
(1) <y W AT (2) 9fr IR BAE

(3) g& oM g - (4) faer = wfawd

Which of the following is not considered while preparing cash budget ?

(1) Accrual Principle (2) Differénce in Capital and Revenue Item:
(3) Conservation Principle (4) All of the above

T3 gole dOR T wHF e § | B F&¥ w1 o © 7

(1) srgwae g (2) i 3R vorE 7E A AR
(@) e Rigra (4) SRE

Electronic Clearing Service in Banks can be availed only by :

(1) Individuals (2) Corporates .

(3) Senior Citizens (4) All of the above
ﬁ?ﬁﬁﬁaﬁrﬁmﬁawﬁwaﬁaﬁﬁaa%mmmwm%:
(1) et | (2) whofkes

(3) aRw AR (4) SWRE T

Nowadays banks are selling third party products. Examples of third party product i

(1) Mutual Funds (2) Term Deposits

(3) Credit Cards (4) All of the above
W%WW%W@WW@%!WWW%W%:
(1) ~gordt Bed (2) wmafy S

3) Bfec a1 (4) SR |l

What is the median of the following set of scores ?
18,6,12,10,147

(1) 10 (2) 14

(3) 18 (4) 12
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75.

76.
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g # feTm w2 7

18,6,12,10,14?
(1) 10 () 14
(3) 18 @) 12

The denominator (bottom) of the Z-score formula is :
(1) The standard deviation

(2) The difference between a score and the mean

(3) Therange

(4) The mean

Z-FhR el § favrere @ gar € ?

(1) o9& fames

(2) Score 3R Mean & 9 &7 3R

(3) <

(4) Mean

The standard deviation is :

(1) The squaré root of the variance

(2) A measure of variability

(3) An approximate indicator of how numbers vary from the mean
(4) All of the above |

Ao fage g -

(1) fERor &1 Tvd

(2) uRacd=Elaar &1 ta #ex

(3) Mean & =il % fage &1 Ua FgAIT Gad

(4) SWRIFT I

A graph that uses vertical bars to represent data is called a ............

(1) Line graph (2) Bar graph

(3) Scatterplot (4) Vertical graph

TH TP S ST &1 IffAf o7 & oy WS ol &1 SYART BRal 8, $&T el § ¢
(1) <8 9% (2) IR U

(3) Thex wiie (4) FEARR TTH
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77.

78.

79.

80.

81.

The most frequently occurring number in a set of values is called the ..........

(1) Mean (2) Median

(3) Mode (4) Range
aﬁﬁw@tﬁa@maﬁmmwmﬁ%?
(1) Mean (2) Median

(3) Mode (4) Range

How many dependent variables are used in multiple regression ?

(1) One (2) One or more

(3) Two or more (4) Two

eder Rirer ¥ ey feie W EM € 7

) W™ (2) T W e

(3) < T IAH T @) @

Non-overlapping categories or intervals are known as .............

(1) Inclusive (2) Exhaustive

(3) Mutually exclusive (4) Mutually exclusive and exhaustive
I sifremd AP AT iR B S AR E

(1) wfafed 2) wRgel

(3) TR I (4) TRER N AR g

If a distribution is skewed to the left, then it is ....cccereenens

(1) Negatively skewed (2) Positively skewed
(3) Symmetrically skewed (4) Symmetrical

(1) THRH <él () FHRIES fauH

(3) Symmetricallyﬁﬁﬂ‘l (4) Symmetrical

Which one of the following relates to an implied warranty ?
(1) Disclosure of dangerous nature of goods

(2) Title to goods

(3) Sales by sample

(4) Sale by description

PG-EE-2015/(Commerce)/(D)




82.

83.

84.

frfoRad & & SrH-a1 te it aRA § W @ ?
(1) AT & WRATD YPHid BT THCIHIOT

(2) w1 & forg ¥ide

(3) T fasnt

(4) Ui gRT faay

A seller agrees to supply a crop which is to be grown by him. Thisis a :
(1) Sale (2) An agreement to sell

(3) Bailment (4) Contract for work and labour

23

% fAwar SHa gRT S S arell B @l MY B & oy Wead &1 78 U -

(1) famr & (2) BEd B g9 B g yH FHSAT ®
(3) dotc ® : (4) #&d SR uR%H & oY Iy &

A document is said to be a document of title when :

(1) It contains a conditional undertaking to deliver the goods

(2) It contains an unconditional undertaking to deliver the goods
(3) It contains an unconditional order to take delivery of the goods

(4) It contains a conditional order to take delivery of the goods

e XSl 9] ¥ U UNe SRSl a9 STl ®© ¢

(1) ¥E 7ra &% B fore werd Sumd F e

(2) I8 9ME faaRa ax=1 & fog ve fa=m o Susd # wmfae
(3) U 5t I it o & forg fa=m wrdf onewr gar &

(4) 78 T A R R D R v e e B @

An offer may lapse by :

(1) Revocation

(2) Counter Offer

(3) Rejection of offer by offeree
(4) All of the above

PG-EE-2015/(Commerce)/(D)
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85.

86.

87.

T IR AT B |l ©
(1) fres 4
) Sard w=a |

) WWW@W@

(4) SWIE T A

A proposal when accepted becomes a:

(1) Promise

(2) Contract

(3) Offer

(4) Acceptance
wwmwgﬁm%aﬁuﬁwaﬂm%?
(1) dart

(2) orged

(3) g™

(4) wPpid

Moral pressure is involved in the case of :

(1) Undue Influence ' (2) Coercion
(3) Misrepresentation (4) Fraud
A <91@ B Hrel W T ©

(1) emaifesa gdd (2) STERERN
(3) dEPTI (4) o

Consideration must move at the desire of :

(1) Promisor (2) Promisee

(3) Any Other Person (4) None of these -
Consideration f&a®! g28T W IFTARE BRAT BT 2

(1) Promisor (2) Promisee

@) fod oy @t (4) T & FIg TR

PG-EE-2015/(Commerce)/(D)




88. An executor consideration is :
(1) Consideration promised by executive of a company

(2) Consideration which consists simply of a mutual exchange of promise each being
a consideration for the other

(3) Consideration which should be executed on the future date

(4) Consideration which should be executed before the court,
U TRATYCeR B aSxT & :

(1) 91 & HRAGNT 7 graT fhar _

(2) T TR & fay far o @1 & e uReaRe fafmy

(3) wfasy @ el i W Freaifea far s aren arer far
(4) 3=Td & |Re Frenfed far S aren faw |

89. What is known as a charter of a Company ?

(1) Memorandum of Association (2) Byelaws
(3) Articles of Association (4) Prospectus
= A ) e ot &1 TR Fer o @ °? |

(1) ¥HReH o TaRee (2) =8 <
(3) enféaet 3ifm TaRer () v

90. Dividend on preference capital is paid .....
(1) Whenever there are profits _
(2) When there is loss
(3) Even if there are no profits
(4) After dividend is paid to equity shares
TG Yol R AR BT I T o @
(1) w19 W 9 B @ 8
(2) 9 JHA BT &
(3) @™ ¥ B & '
(4) 3 AT R A B P D 98
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91.

92.

93.

Which Financial Statement Displays the revenues and expenses of a company
period of time ?

(1) Income Statement- (2) Balance Sheet

(3) Cash Flow Statement (4) Statement of Stockholder
F-a1 i AR 997 @) el @ e te soi & Toa R g yefRia exar

(1) 3ma faavor (2) defe e
(3) FHS yarE faavor (4) STl & faaRor

What is the main purpose of financial accounting ?

(1) To organize financial information

(2) Provide useful, financial information to outsiders

(3) Keep track of company expenses

(4) All of the above

faeira AT &1 =T Iy w1 8 7

1) i e a1 FaRer &R @ forg

2) T A B forg Suarf, faxie SHaRT werE @R @ forg
(3) BIN B WA W ToR W& B (Y

(4) SRIaT

Which of these is not included as a separate item in the basic accounting equatic
(1) Assets

(2) Revenues

(3) Liabilities

(4) Stock Holder's Equity
@@-'W—wwmﬁﬁmﬁﬁwmwzﬁwﬁwﬁa Tzl faz

(1) Hufy
(2) o

(3) <uary
(4) YRS B sfaay
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94.

95.

96.

97.

98.
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Which financial statement uses the expanded accounting equation ? TR

(1) Income Statement (2) Balance Sheet

(3) Cash Flow Statement (4) Statement of Stockholder's Equity
Fr-ar Rl Rawor RamRa orar TR BT SUGIT BT § ?

(1) mg faavor (2) ¥ e

(3) &L yars faaror (4) el @ gfaadt &1 faaror

The accrual basis of accounting records revenue when they are :

(1) Earned (2) Collected

(3) Contracted (4) Readily available for use

SRATH BT ST IR o ARG T © - : “
(1) arfdfa (2) gPgcT

(3) erERa (4) ST & g o | Suere
The account format that displays debits, credits, balances and headings :

(1) General Ledger (2) General Journal

(3) Ledger Account (4) T-Account

M, Bfee, I TR ok MfeT B Br-A1 W yey TSR HRar & ?

(1) | qErEmal Q) 9N WA

(3) @er @ 4) -

Asset accounts have what type of balance ?

(1) Debit (2) Credit

(3) Contra : - (4) All of the above
IRERY @i & A9 BT FT PR B 7

(1) sfae ) #f¥e

(3) @1 (4) SURE |

Which account is not a liability account ? _
(1) Accounts Payable (2) Accrued Expenses
(3) Cash (4) Notes Payable

PG-EE-2015/(Commerce)/(D) _ P.T.O.
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99.

100.

ﬁﬁfﬁﬁﬁﬂ-ﬁmﬁﬁw:@i%?
(1) T = (2) Suiia @d
(3) &9 (4) T eH

Which account increases equity ?

(1) Expenses (2) Withdrawals
(3) Treasury stock (4) Revenues
Y @ gl 98 e 8 7 '

(1) <19 _ () feri

(3) TR (D (4) oA

A contra asset account has what type of balance ?

(1) Debit (2) Credit

(3) Contra (4) All of the above
wﬁuﬁaqﬁw%@ﬁa%mﬁmwwﬁ?

(1) sfae (2) #fse

(3) B (4) ST T

PG-EE-2015/ (Commerce)/(D)
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